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1. How to Save the Environment

2. Climate Change

3. Precipitation

4. Polar Bears

5. Acid Rain

6. Plastic Waste

7. Turn the Lights Off

8. Recycling Plastic

9. Bans on Single-Use Plastic Bags

10. Cookstoves

11. Environmentally Friendly Polymers
12. Green Bonds

13. How to Throw Away Garbage in Korea
14. Climate Change and Floods

15. Zero Waste

16. How to Discard Single-Use Masks Safely
17. Methane Gas from Animal Agriculture
18. Circular Economy

19. Transforming Seoul

20. Pyrolysis

21. Plogging

22. Eco-Friendly Home

23. Scarce Resources

24. The Effect of Climate Change
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26. Global Online Environment and Sustainable Survey 2
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1. How to Save the Environment Reading Conprehension

The carbon footprint Mshows how much carbon dioxide and other greenhouse gases a per-

son produces in everyday life. It reveals the amount of fossil fuel and electricity that people use
on a daily basis, plus the amount of energy and resources consumed to manufacture the prod-
ucts they purchase.
There are many actions you can take to reduce your carbon footprint. (A) , riding a bike
or walking short distances is one of the simplest ways you can help reduce carbon footprint.
Public transport is another way of getting to places without putting a burden on the environ-
ment. If you have to use your car, make sure @that it is maintained correctly and does not
burn more fuel than it should.___(B) _, in your home, you can contribute to saving energy by
®turning off the lights, not in use. Avoiding the use of air conditioners @in which destroy the
ozone layer is another way of protecting the environment. Electrical appliances can save ener-
gy if you set them to standby mode. Recycling plastic, glass, and paper can drastically reduce
your carbon footprint. Lastly, it is (a)vital to persuade other people to follow your actions.
Only when we make joint efforts to reduce carbon emissions, ®can we hope to have a better
environment for generations to come.

@) 2 22 n80= wate 2122

1) Ways to Reduce Your Carbon Footprint

2) Recycling: Is It Worth the Effort?

3) Public Transportation: A Burden on the Environment
4) Measure Your Carbon Footprint Everyday

5) Ozone Layer: The Shield of Our Planet
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Using public transport, turning off lights, avoiding the use of air conditioners, and recycling are ways

to (A) your carbon footprint, the total amount of carbon dioxide (B) by your actions.

(A) (B)
1) increase measures
2) increase release
3) reduce ignored
4) reduce consumed

5) reduce released
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(A) (B)
1) For example However
2) For example Even though
3) But For example
4) But Also
5) For example Also

D 51 2018 2E 3 @2t %t 0] of

1) important
2) critical

3) essential
4) necessary
5) sustainable

Vocabulary

carbon dioxide O|At&}ELA / produce MAHSICE / fossil fuel 3HAQ1& / burden &, &

electrical appliance 7t H|Z / emission &

&} / maintain §X|SIC}, 22|5ICH / contribute 7|0{SIC}, O|HFX|SICH




2. CIimate Change Reading Conprehension

X 7|5 W= =0f == S1A4X dskS O)Fl Zio 2 HOICE Glaciers Mhave diminished, ice
on rivers and lakes is melting earlier, ranges of plants, and wildlife have altered, and trees are
flowering faster. Events that scientists have predicted as a result of global climate change are
now taking place. Researchers remain convinced @which global temperature will continue to
increase for decades to come, mainly due to greenhouse gases produced by human activities.
The Intergovernmental Panel on Climate Change (IPCC) predicts a temperature rise of 2.5 to
10 degrees Fahrenheit over the next century. "Taken as a whole,” the IPCC states, "the range
of published evidence indicates ®that the net damage costs of climate change are likely to
be significant and to increase over time." These changes have had an impact on the spread of
infectious diseases. Natural disasters caused by climate change are destroying wildlife habitats,
which has led to increased human-to-animal contact. Researchers found that an estimated
70% of new infectious diseases over the last 80 years @were zoonotic, meaning animals
transmitted the disease. Also, as global warming is making Earth a more humid and warm-
er place, the number of mosquitoes and bats are increasing, and as the glacier melts, long-
dormant viruses kept frozen in the ice ®are coming back to life. The World Health Organiza-
tion (WHO) projected that infectious diseases would increase by 4.7 percent with a 1°C rise in
the average temperature of the Earth’s atmosphere.

D 51201 2E 3 2212 2TS FOIT OIS S U8 Y2YOR MR,
noticeable / seems to have had / global climate change / environmental effects
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Vocabulary

glacier 3} / diminish 50125} / alter H3IL}, 2RIt/ devastating CHEFS| Th2|H @l / indicate LIERHLCE, (ZHOILL 7Hs42) Ho{ Ft
significant 28, o|0| l=, F{Ck2t




3. PrECipitation Reading Conprehension

When temperatures Dincrease, more moisture evaporates into the atmosphere from the
land and sea. Further humidity in the air usually implies that we can anticipate more rain and
snow and more @heavy downpours. Yet, this increased precipitation isn't @uniform across
the globe. That is because climate change causes shifts in air and ocean currents, which can @
alter weather patterns. On average, the world is already getting more precipitation now than
it (A)was 100 years ago. (a)Between 1925 and 1999, the region between 40 and 70 degrees
north latitude grew rainier, while the area between zero and 30 degrees north grew drier. (b)
Heavy precipitation can increase the risk of landslides. (c)Following this trend, northern Eu-
rope seems to be growing ®drier, while the southern part grows more arid. (d)Too little or too
much water can be a problem. (e)In many places, people depend on rain and snowmelt to fill
reservoirs and provide a source of water for drinking, watering crops, and other uses.

@ 212225 31 22 0~05, 2UY Lo solo| MK g2 H2?
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1 (@)
2) (b)
3) (0
4) (d)
5) (e)
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1) Change in precipitation patterns caused by climate change
2) Increased risk of landslides in rainy areas

3) Risk of high levels of humidity

4) The effects of lack of precipitation

5) Extreme weather caused by heavy precipitation
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Changes in precipitation patterns caused by climate change make the regions of upper latitudes__ (A)

__and areas of lower latitudes__(B) , causing many problems.

(A) (B)
1) colder drier
2) more arid drier
3) rainier more arid
4) more arid rainier
5) rainier colder

(D ¢l 201 this trend 7t elnlsts B2 JKy ke 222

1) Increasing precipitation levels in regions of upper latitudes, decreasing precipitation
levels in areas of lower latitudes

2) Increasing average temperature

3) Shifts in air and ocean currents

4) Frequent occurrence of landslides on rainy areas

5) Shortage of water in arid areas
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Vocabulary

moisture & / evaporate Z5}C} / atmosphere CH7| / humidity &5 / imply LIEFLHCE, RAISICH (=suggest) / downpour Z< / precipitation 24, Z2F
latitude 9| / arid 0f Z4Z=$8t / reservoir X{+X|




4_ P0|a|‘ Bears Reading Conprehension

As temperatures rise, the habitats of several North American species move north and to
higher elevations. In recent decades, in both land and aquatic environments, plants and ani-
mals have migrated to higher elevations at a rate of 0.011 kilometers per decade, and to high-
er latitudes at a rate of 16.9 kilometers per decade. (A) __this means expansion for some
species, for others, it means moving into worse habitats and increased competition, with some
species having no place to go because they are already at the top of a mountain. These factors
have led to the local extinction of both plants and animals in some areas. The impact of climate
change on a particular species can ripple through a food web and affect a wide range of other
organisms. (B) __, not only (a)do the decline of sea ice threaten the population of polar
bears by reducing their primary habitat, but it also negatively impacts them through food web
effects. Declines in the duration and size of sea ice contribute to the reduction in the number
of ice *algae that grow in nutrient-rich pockets in the ice. These algae are eaten by zooplank-
ton, which are in turn eaten by Arctic cod, an important food source for many marine mam-
mals, including seals. Polar bears feed on seals. Declines in ice algae can, therefore__ (C) the
decrease in polar bear populations.
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1) prevent

2) contribute to
3) measure

4) predict

5) compensate
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(A) (B)
1) On the other hand Therefore
2) However For example
3) For example But
4) While For example
5) For instance In the end
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Vocabulary

habitat MA!IX| / species (M21 (&) / migrate 0| S3|C}, 0|35IC} / elevation s =0]|, £ / extinction BZ / ripple ZH2Z(TH212 L 27|Ct/ duration X|&A[Zt




5. ACid Rain Reading Conprehension

Acid rain can cause (a)serious damage to our environment, including plants and animals. (@
YEH =25t 712, 0|72 oIZHf[A|E 42t EHE 2o Z! 4 QICt (@ ) The major cause of acid rain
is air pollution. ( ® ) When chemical compounds such as *sulfur dioxide and *nitrogen oxide
are released high into the atmosphere, those chemicals react and mix with water and oxygen
to form acidic pollutants, also known as acid rain. ( @ ) When acid rain absorbs into the earth,
it dissolves (b)important nutrients in the soil, such as magnesium and calcium which are (c)
essential for plants. ( ® ) (d)Increased levels of acidity and aluminum in lakes and streams
disturb the aquatic ecosystem by making it (e)suitable for many key species in the food chain.

*sulfur dioxide O|£t&}2t / *nitrogen oxide O| AR A

01 PELES LR R LR,

1) The major cause of acid rain

2) The importance of magnesium and calcium for plants
3) Harmful effects of acid rain

4) Health issues caused by acid rain

5) The effect of acid rain on aquatic ecosystem

@ 2l 2¢l 5802 Hop, 0~ 3 Foiz 2R0| Soi7b7|of k% XS R 122,

Also, it causes the aluminum to be released into the soil and makes it difficult for trees to

absorb water.
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create / humans / more importantly / health issues
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4) (d)
5) (e)
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Vocabulary

acid £, A / chemical compound &fgHE / pollutant 2 £ / absorb £45IL} / nutrient Y4, AU / essential ELH 0l 25| S8t/ suitable gt
uninhabitable & = ¢i=




6. Plastic Waste Reading Conprehension

Plastic waste is becoming the greatest threat to ocean ecosystems. If we don’t do anything
about this issue, there may be one ton of plastic for every three tons of fish in the ocean by
2025. Nearly 700 species of fish Mare affected by plastic waste. Most of the deaths of marine
animals are caused by entanglement and ingestion. When a fish ingests plastic waste, it alters
natural biological and chemical processes, @introduces toxins into the food chain. Despite the
devastating effects of plastic waste, efforts to resolve plastic pollution by individual states have
(A)fail in cutting off the flow of plastic waste from land to sea. (a)The absence of strict restric-
tions under a globally united commitment is the main reason past efforts had failed. (b)The
manufactured or synthetic plastics @are made to mimic the properties of natural materials. (c)
The problem @which arises from plastic pollution is not just limited to individual states. (d)
It affects everyone globally. (e)To solve a global problem, the solution must be global as well.
Therefore, it is important to challenge our current environmental laws ®which only bring little
or no results and realize the need for new paradigm to resolve this problem together.
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5) (e)
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Vocabulary

threat 9|& / ecosystem MEl7| / affect ¥&H2 O|X|C} / entanglement 248!, Z2{% / ingestion 4% / ingest 2%|5IC} / biological 44

=55
toxin SA / resolve s{Z5ICt / absence 5K / restriction 74| / commitment || / synthetic 8412 / mimic 2YSICE / arise from ~0i|A]

/ chemical 3}8tx{Ql
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7. Turn the Lights Off Reading Conprehension

Switching the lights off when you're not @using them can help save energy and lower your

electric bills. Turning your lights off is also more energy efficient when you choose lighting op-
tions that are high-quality and cost-effective. Not all bulbs are manufactured in the same way.
(A) One of the least energy-efficient types of lighting is the incandescent light bulb. (B) There-
fore, switching off your incandescent light bulbs will help you conserve more electricity in your
home. (C) When not in use, shutting off halogen lights can also help to reduce energy costs, as
they use the same technology as incandescent light bulbs. (D) You also need to follow the rules
when you turn off Compact Fluorescent Lights or CFLs. (E) If you are going to return to your
room within 15 minutes, you should keep the lights on. But if you're going out of the room for
more than 15 minutes, then shutting them off is more energy efficient. This will also help ex-
tend the life of your CFL bulbs. Light-emitting diodes or LED bulbs will not be affected, how-
ever, whether or not you turn them on or off. It's one of the essential features of LED bulbs @
which makes them ideal for your home energy conservation.
Turning off your lights will help you ®conserving both energy and money. You can calcu-
late how much energy you can save for each light bulb you turn off per hour. First, you need
to check the rating of watt written on each light bulb. If you've got a 60-watt bulb and you
turned it off for an hour, you can save 0.06 kilowatt hours. You can also calculate how much
money you can save by switching off your lights. You first need to check your recent electric
bill and see how much per kilowatt hour you're charged. Then, multiply the amount of kilowatt
per hour by its given price. The amount of energy and money you save depends on the place
@®where you live. It can also depend on the time of the day or the season in which you use
your lights. If you have an electric rate of 20 cents per kilowatt-hour, then you can save around
1.2 cents when the light bulb is shut off per hour. Switching off the lights as you leave your
room will help you conserve electricity. It will also serve to minimize carbon dioxide and other
harmful greenhouse gases. So, turning off the lights is an easy way ®to help protect the envi-
ronment and save the planet.
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These lights tend to produce heat as their primary electrical conversion before they generate light.

1) (A)
2)(B)
3)(©
4) (D)
5) (E)

Vocabulary

Efficient 839l / incandescent B Mo|, ZHst =HA|H| 412 / diode CIO|RE




8. Recycling Plastic Reading Conprehension

As plastic waste is becoming a major environmental problem, there has been a growing
concern to find ways to reduce domestic plastic waste. Various attempts have been made to
achieve this goal, but the most practical way is for individuals to take part in recycling. Throw-
ing all kinds of plastic waste in one basket, however, is not a proper way to recycle. There are
specific pre-sorting and cleaning steps that individuals need to take for effective recycling. The
most important step is to distinguish the different plastics and sort them accordingly.

(A) Similar to other types, it must be cleaned before disposal. If food residue is still present in
containers, they must be cleaned and rinsed. Packaging parts like labels, stickers, and adhesives
must be removed before being tossed in the bin. If the size is too big to fit in the wastebasket,
it should be broken down into smaller pieces. When it is impossible to remove contaminants
and food residue, it becomes categorized as non-recyclable waste.

(B) Videotapes, which are composed of PET and other materials, cannot be recycled and must
be disposed of as regular waste. Vinyl is widely used to make plastic bags and wrappers. They
have to be separated before they’re thrown into the recycling bin. And like plastic bottles and
containers, they must be washed and cleaned. Another plastic material that can be found in
our daily lives is Styrofoam. It is used for almost any kind of item you can find in grocery stores:
meat, fish, vegetables, fruits, to name a few. It is used as ‘take-out’ food containers in restau-
rants as well.

(C) The three most popular types of plastics are PET, Vinyl, and Styrofoam. PET(polyethylene
terephthalate) is commonly used to make plastic bottles and containers. They can only be suc-
cessfully recycled when they are empty with no labels. Not all PET products are recyclable.

(01 ESE EEER( SR E RN

1) Plastic: The Most Useful Material

2) Proper Way to Recycle Different Kinds of Plastic

3) Recycling: Effortless Attempts to Reduce Plastic Waste

4) Three Most Popular Types of Plastics

5) Plastic Packaging: Number One Cause of Environmental Pollution

(@) 21 2004 F01Zl 2 Cr20] olofX 2ol ANE K s %S D2,

1) (A)-(O)-(B)
2) (B)-(A)-(O)
3) (B)-(O)-(A)
4) (O-(A)-(B)
5) (O)-(B)-(A)




D 52 gt Lxisx]

52

7127

rlo

1) 7Hielo] HZ2tAEIS F017] flsh & + M= 71 88X el Y2 Hi= o) Fofsh= Zio|Ct
2) 7F8 &5} 201= E2fAE| ZRE PET, Vinyl, 32|31 Styrofoamo|Ct.
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4) Styrofoam2 ZHE 87|2 SAFH0IM ALZE|0fZICt
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5) Styrofoam0fl 22 S428 Mol £ gIS FL S420| 22 Y2 22|+ E EiCL

Vocabulary

Sorting &, 28 / distinguish JH5IC}, AIHSICEH/ contaminant 2 2%! / residue Z0{E, Zto] A




9. Bans on Single-Use Plastic Bags reading conprehension

South Korea's Ministry of Environment announced Mthat large retailers would be banned
from using plastic bags starting April 2019 to protect natural resources and deal with recycling
waste. The ban affects 2,000 big supermarkets and 11,000 supermarkets with floor area of
165 square meters or more. Currently, these retailers can’t offer plastic bags to consumers for
free. With the exception of holding wet goods like fish and beef, the current regulations would
ban single-use bags. Supermarkets shall provide alternatives for their customers, such as cloth
or paper bags, which are reusable or recyclable. Those that @break the prohibition will face
penalties of up to three million won. According to the World Economic Forum, the world’s
sea contains nearly 150 million tons of plastic. A 2015 study revealed that between 5 and
13 million tons more flow into them each year. Data reveals that by 2050, the world's oceans
will have more plastic than fish by weight, @prompt governments, citizens, and businesses to
take action. On the contrary, in a report published earlier this year, plastic bags in north Europe
have declined by 30%, and scientists have Grelated this to the extensive implementation of
plastic ban charges and constraints.
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The act of officially not allowing something, or an order that does this.
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Vocabulary

Amendment (& S2|) 7§¥ / regulation 71, 11H| / prompt (A0l 0fH ZH S LHZ|= S, 0fHH 20| AO{LIE=S) SICHEESICH




10. COOkStOVES Reading Conprehension

According to German Watch, a private research institution in Germany, Myanmar ®is the
second most vulnerable country to climate change. The country is exposed to abnormal cli-
mates and the citizens @are continually exposed to adverse conditions due to extreme air
pollution. Indoor air quality is especially poor in Myanmar because many households are still @
using firewood for cooking and heating. Trees are cut down to make firewood, which in turn
@®damage the forests and causes soil erosion, leading to an overall negative impact on the en-
vironment. To address this issue, GS Caltex provided 50,000 high-efficiency cookstoves to the
Ayeyarwady Region of Myanmar. The GS Caltex Cookstove Distribution Project hopes to ®im-
prove the quality of life for people of Myanmar and also to local forestry conservation
efforts.

(@D = 201 Lok Hois = ofafe] Aol YIS HS 27| FopAAL.

1) Able to be easily physically, emotionally, or mentally hurt, influenced, or attacked :
2) Different from what is usual or average, especially in a way that is bad :
3) The fact of soil, stone, etc. being gradually damaged and removed by the waves, rain, or wind :

D 21 2wzl Soiz w2 JkE MM 21g 2N,

1) contribute to
2) sabotage

3) evaluate

4) transform

5) disturb

1) OjeOLE MAIOIM 71ZHst0] & 2 F kst Z7tolct.
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Vocabulary

institution 7|2 / vulnerable £|2kt / be exposed to ~0f| 'w&E|0] L}/ abnormal H|ZAE I / citizen A9l / adverse S 9l / indoor ALH2| / firewood ZF=E,
damage Il E 5|Ct / soil erosion EY G / address SiZ3ICt / high-efficiency 1& 89| / cookstove 2AEE (22|82 312)
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11. Environmentally Friendly Polymers Reading conprehension

Plastic waste is becoming one of the most urgent environmental challenges as the world is
producing more plastic goods than it can manage. (A) In an effort to solve the problem, sev-
eral businesses are now manufacturing a range of environmentally friendly polymers. (B) For
instance, GS Caltex, a Korean company, produces polymer compounds made from recycled
plastic. (C) When waste plastics are recycled into eco-friendly composite resin rather than in-
cinerated, carbon dioxide emissions by an annual total of 61,000 tons is reduced. (D) The old
traditional resource consumption method has contributed to worldwide plastic pollution. (E) To
tackle this problem, companies must work together and make constant efforts.
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The effect is equivalent to planting 9.3 million pine trees or reducing greenhouse gases

emitted by 30,000 cars annually.

1) (A)
2) (B)
3)(©
4) (D)
5) (E)
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1) Very important and needing attention immediately :
2) To burn something completely :
3) The act of sending out gas, heat, light / an amount of gas, heat, light, etc. that is sent out :

Vocabulary

urgent A|28t / polymer Z2|0{ / composite £§+2| / resin (§H4)4X| / incinerate 2ZF5{Ct / annual 932t/ tackle (2H[0l) ZEAICH, ML}
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12. Green Bonds Reading Conprehension

Given the growing social interest in the environment, especially in climate-related issues, a
‘good finance’ for the environment has begun to attract notice. Green bonds are bonds desig-
nated to promote sustainability and to support special environmental projects. More specifical-
ly, green bonds finance projects that target energy efficiency, pollution prevention, sustainable
agriculture, fishery and forestry, the protection of aquatic and terrestrial ecosystems, clean
transportation, clean water, and sustainable water management. (a)lssuance of green bonds
has multiple advantages. (b)It not only diversifies companies’ funding channels but also (A)en-
hance their corporate image as eco-friendly companies. (c)The only drawback of green bonds
is that the companies issuing them are subject to strict conditions. (d)Government should nev-
er intervene in corporate decision-making process. (e)Nevertheless, the positive impacts on
society as well as on companies are so great that even governments actively encourage them.

@ 2| 22| MBS o= 1A HMAMEH H2?

1) Green Bond: Good Finance for Better Environment

2) Social Dilemma: Profit or Environment

3) Environmental Projects: Bad Investments

4) Government Regulations: The Guardian of Environment
5) Stay Away from Green Bond!
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2) (b)
3) (0
4) (d)
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mH
10
=
ol
X
e
2
_o'l_-
rr
=
ro

~

0z

1) Green bond2 £ $2lM 2 HEksH= zjZ0|C}.
2) 7|¢49] Green bond a2 ot golelg Xafjst 4 9Ct.

3) Green bondi= 7|0| X3 ZE S Clsists 22 B2 28 7|0J2H 71 0l0[XIS R DEHCt.
4) Green bondQ| %t EHH2 =2 £xt Q3 Mo|ct.

5) HHEX%} Green bond2| HHElS MM o= ptEstD QICt.
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Vocabulary

green bond J2I2E / designate X|H3IC} / sustainability X|&7HsA / specifically 2HIZH 22 / finance X2 CHC} / target ~2 SEZ 3IL}/ fishery 01

= [

forestry 2212 / aquatic 49| / terrestrial EZ2| / issuance &l / diversify CHSFSICE / drawback THE [ issue &ali5ICt / intervene ZHQISICH / encourage ZH2{5iCt
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13. How to Throw Away Garbage in Korea Reading Conprehension

According to the Ministry of Environment in Korea, the average waste recycling rate in the
country was 86.4 percent in 2017. However, the figure is not a precise reflection of the actual
recycling rate but rather that of separated waste collection, because it only shows how much
recyclable waste was sent from garbage collectors to waste separating companies. Moreover,
about 39 percent of such wastes were simply rejected and discarded as they were too dirty to
be recycled.

Over half of the garbage in waste bags could have been recycled if they had been properly
separated into recycling bins. To enhance the recycling rate for our environment, it is necessary
to raise public awareness of how to separate recyclable waste properly. First, plastic containers
and bottles should be emptied and (A)rinse out so that there is no residue in them. Labels,
lids, and caps that are made of different materials should be removed and disposed of sepa-
rately.

Next, plastic-coated paper items such as magazine covers and receipts should be disposed of
as general waste, not recyclables. Also, paper cups should be separately discarded from other
paper items. They should be collected along with paper cartons for recycling. If it is not possi-
ble to collect them separately, paper cups should be disposed of as general waste.

Thirdly, labels and tape should be removed from cardboard shipping boxes before being dis-
carded. The same policy applies to Styrofoam boxes: labels, tape, and things made of other
materials should be removed for recycling.

@) ¢ 2o 2oz w s we?

1) Inaccurate Statistic Data from Ministry of Environment

2) The Role of Governments in Achieving Plastic-Free Environment
3) The Importance of Knowing Proper Recycling Method

4) Pros and Cons of Plastic Containers

5) Styrofoam Boxes: Number One Cause of Plastic Pollution
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1) The part that is left after the main part has gone or been taken away :
2) To throw something away or get rid of it because you no longer want or need it :

Vocabulary

Precise H&kst, MUt/ discard H{2|C}, |7|3tCt / public awareness LHE2| 214! / rinse 0] LHC} [&IFLH] / residue ZHO{E
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14. Climate Change and Floods Reading Conprehension

The Dincreasingly severe weather conditions, stemming from long-term global climate
change, are making floods more common. Changes in climate and land cover, such as remov-
al of vegetation, @increasing flood risks. Higher ocean water and air temperatures raise the
possibility of evaporation and, therefore, cloud formation. High moisture content in the air can
contribute to an increase in intensity, length, and extent of the precipitation. In January, our
global temperature reached the highest in history. The average global temperature now stands
at 1.1 degrees higher than the beginning of the last century. The fact is @that we now live on
a planet that is 1.1 degrees warmer. The record temperatures and record floods are no longer
exceptions, but the beginnings of a new trend, and new records will continue to @be bro-
ken year after year. Governments, businesses, and people at all levels must be ready to tackle
more severe weather conditions, as the environment begins ®to change at a growing rate. In
the future, climate science should be enforced when developing, changing, and securing our
homes, cities, industries, and infrastructures. Natural climate strategies such as reforestation
and land conservation need to be taken into serious consideration as these will mitigate the
consequences of extreme weather events.

@ ¢ 201 L= HoIS S ofziel S0 YU UE Hot BN,
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To make something less harmful, unpleasant, or bad.
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Vocabulary

Stemming from ---0l| 7|2I5|IC}, ---0f| S2HSICH/ vegetation =2 / reforestation = CHA| BHE7|, A2I7HZH
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15. Zero Waste Reading Conprehension

Zero Waste is a philosophy and a set of principles focused on reducing the amount we @
dispose to nothing, or as close to nothing as possible. Zero Waste has several different defini-
tions, but the philosophy is the same - maximizing diversion from landfills and incinerators and
reducing waste at the source for more sustainable solid waste management. It goes beyond
recycling at the end of a product’s life cycle but encompasses the entire life cycle of a product
so that it will work @like the sustainable natural cycles.

The concept began ®to gain publicity in 1998, and the Zero Waste International Alliance (ZWIA)
was established in 2002 to promote alternatives to landfill and incineration and raise public
awareness of the benefits of Zero Waste society. During the early 2000s, a few states in the
United States established zero waste goals: the California Integrated Waste Management Board
set up its goal in 2001, @followed by the City and County of San Francisco’s Department of
the Environment in 2002.

But it was 2009 when the Zero Waste lifestyle movement emerged in local communities and
caught public attention. Now today, with an ever-increasing necessity to move toward a more
sustainable waste management, a growing number of people, particularly young millennials, ®
is adopting the Zero Waste lifestyle. Members of an active zero-waste online community said
they learned what they had been wasting in their life and how their life turned happier and
more fruitful through the new way of living with less.

@) ¢ 2o H2o= 1w =z e

1) The Rise of Zero Waste: The Road to Sustainable Waste Management
2) Importance of Philosophy in Waste Management

3) The Role of Local Communities in Reducing Waste

4) Young Millennials: New Trend Setters

5) Zero Waste: Impossible Ideal

@ 212225 3 22 0~0F, ojyy 5 222
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The fact of something being sent somewhere different from where it was originally intended to go

L

Vocabulary

Philosophy &3} / encompass Z&t5iCt, OFZC}, OfIIMLCH / millennials Za{|L|d Mlch
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16. How to Discard Single-Use Masks Safely Reading Conprehension

The Covid-19 pandemic, has made single-use face masks an essential necessity for everyone.
They protect us from external viruses, but at the same time they pose a great threat to the
ecosystem.

(A) Recently, a seagull was rescued in the UK after its legs were trapped in the disposable face
mask straps. The seagull's joints were swollen because its legs were tied to the elastic straps.
To protect wild animals from the masks we dispose, we should cut the mask straps before (a)
dispose of them.

(B) Large amounts of face masks are being thrown away and the number of masks dumped
along the streets has also increased noticeably. There are voices of concerns that those aban-
doned masks are putting lives of wild animals at serious risks.

(C) That way, we can reduce the risk of harming innocent animals in case the masks are acci-
dentally blown away while being transported to landfills. As well as wearing a mask, it is very
important to dispose of it properly.

(01 EEELERE R LR,

1) BELH19E olL517| s &A| 0tAIE 28510 Chof BICL.
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1) (A)-(O)-(B)
2) (B)-(A)-(O)
3) (B)-(O)-(A)
4) (O-(A)-(B)
5) (O-(B)-(A)
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Vocabulary

single-use 23| / joint 2t / elastic strap 2154, EH40| 9}
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17. Methane Gas from Animal Agriculture Reading Conprehension

Methane is one of the most potent greenhouse gases. Greenhouse gases emitted in the
Earth’s atmosphere cause global warming and serious subsequent environment issues such as
sea level rise and destruction of the ecosystem. Meat, a regular dish on our dinner table is the
main cause of methane emissions. Animal agriculture is responsible for 15 percent of global
greenhouse gas emissions, higher than 13.5 percent, the total emissions from all transportation
means in the world. To raise cows, a tremendous amount of water, grazing lands, and fertiliz-
ers (A)is required. More directly, a cow generates 200 liters of methane on average per day.
To prevent global warming, a lot of researches and studies are being implemented around the
world to reduce methane emissions from livestock. However, if we we
will be able to produce positive results that can protect both our health and environment.

@ 2 2280 1m us e

1) Eat More Vegetables and Less Meat: Healthy Way to Save Our Environment
2) Methane Gas: Smelly, but Necessary

3) Animal Agriculture: America’s Number One Industry

4) Vegetarian: A Challenging Lifestyle

5) Save Cows, Save Farmers

@ 2l 2el wiziof Soiz w2 F1 gare 222
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1) eat more meat

2) increase the proportion of vegetables in our diet
3) increase the number of animal agriculture farms
4) increase the number of animal hospital

5) import more meat from overseas

(@ ¢l 20l Ltes HolS S ofzie) Fo Y AU ot MAR
Happening after something else
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Vocabulary

subsequent 1 CH22|, Xt£2| / potent (Al2fe| MAoj| O|X|= Qgto|) ZsHZ2{5H / tremendous YLt AEBt / grazing WRX|, SxX| / fertilizer H|&E
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18. Circular Economy Reading Conprehension

The world is suffering from overwhelming waste. It would be best to reduce it as much as
possible, but what should we do about waste that inevitably occurs? To solve this problem,
the world is focusing on a sustainable ‘circular economy’. A circular economy, often referred to
simply as ‘circularity’, is an economic system (Daimed at eliminating waste and the continual
use of resources.

(A) To resolve this matter, plasma gasification, incineration of waste with extremely high tem-
perature using plasma, is used. This method reduces the amount of air pollutants produced by
one tenth and leaves no ash to dispose. Although both methods sound different, they all boil
down to the use of waste to generate something new, @which enables sustainable circular
economy. In fact, in the case of GS Caltex, an energy company in Korea, the recycling rate of
waste in their plant sites is as high as 76 percent. As such, companies should have a strong
sense of responsibility for environmental issues and play a leading role in introducing a system
that can practically address the issues.

(B) Also, extracting combustible materials from domestic waste, which is called solid fueliza-
tion, ®is part of waste resourcization. On the other hand, waste energization means turning
waste into steam or electric energy. However, when waste is incinerated at plants, toxic pollut-
ants such as nitrogen oxide, sulfur oxide, and even dioxin @which causes cancer are emitted.
(C) There are two ways to realize a circular economy, and they are waste and waste energi-
zation. Waste resourcization means Gconversion actual waste to resource. Extracting metals
from old household appliances, and reusing plastic waste are good examples of waste resourci-
zation.

@D s« 2ol 7M1= 1w =z e

1) The development of circular economy

2) The difference between two methods of reusing waste to achieve circular economy
3) The limitation of waste resourcization

4) The benefit of using waste energization rather than waste resourcization

5) The application of plasma gasification

(@) 51 201M Foiz 2 Cr2o] olofX 29| 2MZ 71 et #E DAL,

1) (A)-(O)-(B)
2) (B)-(A)-(O)
3) (B)-(O)-(A)
4) (O-(A)-(B)
5) (O)-(B)-(A)
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1. Difficult to fight against / very great or very large :
2. In a way that cannot be avoided :
3. To remove or take out something :

Vocabulary

suffer from ~Q2 DNEH}/ overwhelming 2E=X9I / inevitably 74|51 / circular economy #2123 / refer to AZ3IC}/ aim at ~2 FEE 5iCt

eliminate H|7{3}C} / continual X|ZZ Q1 / plasma gasification Z2}=0} 7tA3} / incineration 22} / dispose X2|5}C} / enable ~& 7Hs3HA| SICH/ combustible 914 7}s8F
domestic 7FP82] / fuelization @123} / resourcization X}l&t / energization O|L1X|2} / nitrogen oxide 2t8}E A / sulfur oxide 4t} / dioxin CHO|S 21

realize &345iC} / extract F£E3IC}
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19. TranSfOI"ming Seoul Reading Conprehension

Let’s transform Seoul into a clear and attractive city Mwhere its citizens can live a healthy
and happy life. (a)There are a variety of ways to achieve this, but one of the most effective
methods @is to take part in the ‘Car-Free Day’, which encourages drivers not to use their cars
once during the week. (b)It is the most effective way to deal with car exhausts, congested
roads and energy problems. (c)There are a total of 2.27 million cars in the city, and even if only
1 million cars @Gparticipate in the ‘Car-Free Day’, fine dust would reduce by 9% annually, and
total emissions from cars would fall 9.3 percent, saving 33.2 billion won in environmental pol-
lution costs. (d) ‘Car-Free Day’ originally started in preparation for the 2008 Summer Olympic
Games @which was held in Beijing. (e)Moreover, with less cars on the street, the decrease in
traffic congestion would save drivers as a whole, 611.3 billion won in travel costs and 46.5 bil-
lion won in fuel costs. In the end, the ‘Car-Free Day’ will significantly reduce the level of pollu-
tion in the city, ®making the city more lively and pleasant to live in.

@ ¢ 2o =z i ms we?

1) Car-Free Day: The Best Way to Make Seoul Clean
2) Seoul: The Best City in the World

3) No Cars, No Cities

4) Cars: Number One Cause of Air Pollution

5) Public Transportation System in Seoul

@ 21 2004 8 52T 27} gl BRE?
N @
2) (b)
3) (@
4) (d)
5) (e)
D = 2 e 2xistx e 2e?

1) ‘Car-Free Day’& YFgof| 8t H2 x}SXIE 0|85HX| =& He{st= 2F0ICt
2) ‘Car-Free Day'= X}SXt 0f¢d, nEX|ZF, J2| 1 x| 2X|E siZst= 71 22l Wido|Ct.
3) 1008tCHe| Xt X}3t ‘Car-Free Day’0f| *F0=I%HE O|M|HX|7} 912k 9% ZtAsirt.
4) ‘Car-Free Day’= 2008 H|0| & 3tA| SRI=S FH|SHH XS AIZHEIQLCE
5) ‘Car-Free Day’E Sall & 4622 & HEo| XI5k} ~2[H|2F Hokgt &~ QICt

@ 2 2004 25 3 B2 O~OF, oy 521 %22

Vocabulary

transform H}RLC} / exhaust Bi7|7FA / congest 25| A| SICH / traffic congestion WS #|Z / as a whole FAH|E S Z / significantly 37| / lively 47| 9x|=
pleasant {38t £7{&
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Reading Conprehension

20. Pyrolysis

Plastic makes our lives (a)more easy. That is an undeniable fact.___ (A) , the overproduc-
tion and overuse of plastic created an astronomical amount of waste, which is now threatening
our environment. According to an OECD report, only 14% of total plastic waste gets recycled,
62% gets buried in landfills, and the rest is incinerated. Buried plastic waste takes more than
500 years to decompose and causes various environmental problems in the soil. Burning plas-
tic waste is not the best solution because it releases massive amounts of toxic pollutants into
the air that is hazardous to the environment.___ (B) , there is a high demand for technology
to help boost plastic waste recycling. One of the most favorable and effective disposing meth-
ods is *pyrolysis, which is an environmentally friendly and efficient way. Pyrolysis is the thermal
degradation of solid wastes at high temperatures to produce synthetic fuels. Pyrolysis-based
synthetic fuels are considered the key to saving the potential greenhouse gas emission up to
70% as compared to fossil fuels.

*pyrolysis G 23l

@D 21 221wzt @), B0 Soiz 2= kY e e

(A) (B)
1) For example But
2) On the other hand For example
3) However As aresult
4) As aresult For example
5) On the other hand But
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1) 8Lt ool HiE2tAE0| 22i2| $S Sigistn iCt.

2) OECD &10j n}= HZ2HAE|| 14%Et0| HHEBE|D ct,

3) E2tAEle ajslsr] 5004 0|y HRICH

4) Bl AP SatAE H2| WA 3 stbolct.

5) ERtAElo] WEsE MAE|S B ABE RAskAC] T B SiLic

Vocabulary

undeniable 5918t 4 ¢l= / overproduction Zp= 8t 44t / overuse ZIC} AFR / astronomical 281X 9l / decompose 233ICt / hazardous {2 / favorable MSE|=
degradation £3ll, X{5} / potential Zrx{Zi ol

34



21 . Ploggi ng Reading Conprehension

PloggingO|2t Z=Zlu} M7 E H= A2 65t 2=0|C} The word Plogging is a combination
of the Swedish verb plocka upp (pick up) and jogga (jog). It began as an organized activity
in Sweden around 2016 and expanded to other countries via social media networks in 2018,
following increased concern about plastic pollution. The pioneer of this trend is Erik Ahlstrom,
who started to pick up garbage in the areas where he exercised. Soon after, his routine spread
throughout Sweden, and today, thanks to social media, it is a global phenomenon involving
over 20,000 people a day in more than 100 countries. As a workout, plogging provides vari-
ation in body movements by adding bending, squatting, and stretching to the main action of
running, hiking, or walking. A half an hour of plogging will burn 288 calories on average com-
pared to 235 calories from regular jogging. Plogging is a new environmentally-conscious fitness
trend that is great for the planet's health as well as yours.

(01 PENES LR R LY
1) The origin of plogging and its benefits
2) The effect of social media on the environment
3) The importance of picking up garbage on the streets

4) Effectiveness of plogging when losing weight
5) The difference between regular jogging and plogging

D 2 2004 25 3 2212 282 F0i7 HOISS Y8 YRTOR M.
exercise routine / incorporates / picking up / jogging / litter / Plogging
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1) Plogging2 A¢Io{2l plocka upp3} jogga®| EH410{0i|A HIZE|QALCE.
2) Plogging2 A4 0|C|0{E Sall C2 LI2tSE SHatE|9lct.

3) Plogging®| M31XH= Erik AhlstromO|LC}.

4) 2522M2| plogging2 thastn MgH=Ql S2lQl0tg 23ir}.

5) 3027t ploggingS 32 mff Yut ULt 53¢ Z2|7t o HIAEICE

Vocabulary

plogging Z&2Z / combination =g} / organized ZZ!%l / expand &% E|C} / pioneer MK} / phenomenon #4} / workout 5 / squat 22 12{ 9iC}
on average H#XO =
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22. ECO'Friendly Home Reading Conprehension

@D 21 2014 Foizl 2 ch2ol olojX 2ol AM2 T e %

Since Josh decided to build his green, eco-friendly home, (a)he has faced several challenges.
To begin with, Josh had to convince (b)his father, Peter, that the advantages of an environ-
mentally friendly house far outweighed the high costs involved in building it. For Peter, the
mandatory procedures required in the initial construction and the special eco-materials needed
for the home seemed too expensive and (c)he was unsure it would be worth the investment.
(A) Thanks to his persistence, all the family members, including Peter, agreed on his plans to
build a greener home, and they were all set and ready to start construction. However, convinc-
ing the family was not the end of his problems. Getting permits and licenses from government
authorities was another hurdle that deterred his plans. This process took more than three
months to complete. (d)His next challenge was arranging the eco-materials to arrive in his
building site.

(B) But Josh emphasized the savings that would accumulate over time in the maintenance
costs because the materials are far more durable. Besides, the monthly utility costs would be
less because the house would be more energy-efficient, saving more water and electricity.

(C) However, once again, problems occurred during shipping because of a storm in the area.
After two more months of waiting, the materials finally arrived on site. It wasn't an easy task
for (e)Josh but, after a year of running and (A)jump over obstacles that stood in his way, his
family finally lives in a beautiful environmentally-friendly home that he built on his own from
the ground up.
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1) (A)-(0)-(B)
2) (B)-(A)-(O)
3) (B)-(O)-(A)
4) (O-(A)-(B)
5) (O)-(B)-(A)
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1 @)
2) (b)
3)(d)
4) (d)
5) (e)
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Vocabulary

convince £HIA|7|Ct / advantage BH / outweigh ~2 HOJACH/ mandatory 2|29l / procedure EX} / require 273ICt / unsure £H45}X| 242 / investment £X}
persistence 1% / permit 317} / license 917} / authorities &= / hurdle ZO0iE / deter Y5Hi5ICt / arrange Z&3ICt / emphasize Z =35}t / accumulate SXE|CH
maintenance cost §X|H|2 / durable LfA0] 2! / utility cost

St
232 H| / energy-efficient Of|L{X| E2= QI
from the ground up O}0i| X S5E

| / shipping HiZ / on site $1%t0f| / obstacle Z0HZ
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23. Scarce Resources Reading Conprehension

The limits on what we can create are not only based on our brains but . The
discovery of new elements led to the creation of almost (a)infinite amounts of new inventions
in previous periods like the Iron and Bronze Age. Now our (b)appetite for energy is evolving
drastically. We have never used more materials, more variations, in such large volumes than

we do today. Our demands will soon (c)surpass our stock of resources. This situation comes
at a critical moment when the planet seeks to (d)increase its dependency on fossil fuel. Rare

earth materials are the primary elements in green technologies, such as hybrid vehicles, wind
turbines, and solar panels. They help to transform natural resources like the sun and wind into
energy for our lives. We must find ways to increase our (e)scarce resources today, or we may
not have the possibility of creating greener solutions to slow down climate change. It is now
time for us to put our heads together and the best of our abilities to secure the ingredients to
create a better good for humankind.

@) 512 izt

1) our capacity to find the materials to make them

2) our effort to make them as eco-friendly as possible
3) government policies and regulations

4) distribution of innovative technologies

5) the constant update of their functions

Of2 22 74 Szt A
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ni=y\[=}

1) 71FHEE £37] 218 2IEHE A S 2lohM 2= 57 I}za B7IAZ LS Fofof SiCt.
2) 2= 222l 84 71 2l 7|1&2] ¥H £5 SF0F 2L

3) &ixfe| SHEME BT 4 = UMl WHS 2l5) YS7I2t "‘7IAIEH°I uES MS20} FHt.
4) 5|7 RUS A83t= 2B HIESER SIHLE O W2 XIS it

5) QIR 7} Z|Hs SHEEM S siEshs 7k 2 W2 olux] ArS Ax|st= 2olct
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1 (a)
2) (b)
3)(0)
4) (d)
5) (e)
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@ 2 22 uige 3 2YOR Qo5 TR} BTt HIZH(A), (B SOIZ U= 7K Must 222

As our planet seeks to (A) its dependency on fossil fuel, it is important for us to find ways to

increase our (B) resources which are key ingredients for green technologies.
A) (B)

1) maximize abundant

2) maintain scarce

3) increase abundant

4) decrease scarce

5) abandon abundant

Vocabulary

elements 214, 24 / infinite 2815t / investion & / the Iron and Bronze Age &7|2} H57| AL / appetite 212 / drastically 2X o2, 2 ZO= [ variation 818
surpass FH35ICL / seek BCH F73ICL / dependency 2= / rare earth material 3|E3 / primary F2 / scarce 3| &} / ingredient M&, 24 / humankind 917
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24. The Effect of Climate Change  Reading conprehension

Unprecedented rise in extreme weather conditions wreaked havoc across the globe in the
summer of 2020. Record-breaking heat waves and a series of devastating wildfires in the
Western United States burned a massive area of California about 23 times the size of Seoul.
Denver, Colorado experienced the (A)drasticest temperature swing in a day where the tem-
perature plummeted by 36 degrees Celsius to 2.2 degrees below zero with snowfalls following
one of the longest heat waves in its history, which lasted over 70 days.

In June, temperatures in parts of Arctic Siberia, one of the coldest areas in the world, soared
to a record-high of 30 degrees Celsius. The town of Verkhoyansk, located in the northernmost
regions of Siberia, recorded 38 degrees Celsius in the midst of such unusual heat wave. South
Korea has had its earliest heatwaves and the hottest June since 1973, followed by the longest
rainy season on record that continued 54 days. During the period, the average precipitation
across the country was 686.9mm, which was double the annual average.

Right after the longest wet season, four back-to-back typhoons struck South Korea in August:
the fifth typhoon, Typhoon Jangmi, the eighth, Bavi, the ninth, Maysak, and the tenth, Haishen
landed on the peninsular in a row.

Experts said ‘climate change’ is the cause of such extreme weather conditions. To address this
serious issue, it is urgent to raise public awareness of climate change and facilitate socially re-
sponsible cooperation among governments around the world.

@D ¢ 2o Hzo= 1w =@ 3e?

@ = 22wt axisx o

1) The largest wildfire in the Western United States

2) What we can do about the longest rainy seasons on record
3) Measures to mitigate loss caused by floods

4) Extreme weather conditions around the world

5) Corporate campaigns to stop climate change

rir

Re?

1) BZLIOMIME ABe) 2300 Lot BIxjo| Estrt.

2) B2} U FOIME 5HE80] 7120] A4 36ELF HOJFCY,

3) 20204 #20)= B4 B0| S 47He] E4ZO| A0 ALY

4) 8h22 22 54zto| HOHE 21947 Ol B200M £ HME 21 Fup|ztolct,
5) HE7HSS 0|a7| 50| eloR 7|5 HalE XIS
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@ 2 20 Lok Eois 5 ool o) we %

2t7| 30} 2202,

1) great destruction and devastation, as that resulting from hurricanes, wars, etc :
2) a period of time during which the weather is much hotter than usual :

Vocabulary

wreak Y7tee2|ct, mta|sict / havoc CHibz|, & &2t/ plummet 2F

apx

Ict,

Z2I5ICH/ peninsular YHE2), YHE / facilitate 7Hs31H7 SHCH

41



25. Global Online Environment and Sustainable Survey 1 Reading Conprehension

According to a Global Online Environment and Sustainable Survey of more than 25,000 in-
ternet respondents from 51 nations, the majority of customers worldwide (83%) agree (Mthat
businesses must implement environmental sustainability initiatives. About three out of four
(76%) global consumers claim that raw materials affect their buying and purchase decisions.
The inclination to pay extra for environmentally friendly products @is the strongest in the
Middle East / Africa, @where one-third of customers are willing to pay more. The willingness
is the lowest in North America, @which only 12% of Canadians and Americans say they would
pay more for eco-friendly products. 2 AH|XIS0| XISt A= Cist J{OI™ol MSEE Hl
SHCE but 48% of respondents in North America, 36% in the Middle East/Africa, 35% in Europe,
33% in the Asia Pacific, and 27% in Latin America responded that they would buy whichever ®
was the cheapest.

Ir

@ 2| Global Online Environment and Sustainable Survey2| L1} 2k|5}X| &= 712?

W

i

1) © M7 SExte| 3/4710] fXIxH7L 2S2| FoiZ Yol Y&HS DIZICkD CHERHCE

2) TIEHE HIEe| ool F71H0l SUS XEs6te = Y&H2 S35 ot= 2|7} XM 7+ =E2tX|H| LEsLCY.
3) X1ty HiZe| Fofol| F71EQl FUS XEsi2 = &2 K0[0IM 7F HA| LIEFSLCE.

4) S0|X[Y SEAIE 5 48%00 aligsts AIZIE0| 21gtd YEECH 7HY XSt &ES MSSICtn gt

5) TIgty YERC7HY NS 4ES MEsls &2 Hl X[oliM 7F =A| LIERLC.
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@ 2 2004 25 3 2212 232 F0i7 HOISS Y8 YRR M.
goods / consumers / reported / personal preference / eco-friendly

L

Vocabulary

survey M2X A} / respondent &AL / majority CHCHE / implement A385ICL / initiative Z2M, F2F / inclination ZgF / be willing to 7|740| ~&}11X} SIC}
willingness 2|X| / whichever 2210|Z
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26. Global Online Environment and Sustainable Survey 2 Reading Conprehension

International consumers have mixed opinions about the environmental effects of some en-
vironmental policies and (a)its benefits. While 64% of consumers around the world agree that
organic goods are healthy for the environment, there are significant regional variations.

80% of Latin Americans and 72% of Asia Pacific respondents believe organic goods are envi-
ronmentally friendly but, fewer people in Europe (58%), Middle East/Africa (57%), and North
America (49%) are convinced.

Approximately 8 in 10 global consumers(83%) believe that manufacturers that use recycled
packaging and produce energy-efficient goods have a positive environmental impact. Fewer
consumers believe that local products (59%), fair trade products (51%), and products not test-
ed on animals (44%) affect the environment. Moreover, belief in the impact of 'local’ products
is highest in North America, where 2H|X}2| 65%7} 0|2{$t H|ZE0| stZof| ZX =0l oisk2 O|xl
Ct AMZESHCt

As stated above, 76% of global online shoppers say they consider raw materials when choosing
where to shop and what to buy. Latin American consumers are more likely to take raw mate-
rials into account, with about nine out of ten stating that the usage of industrial materials det-
rimental to the atmosphere impacts what they buy. North American users (59 %) are the least
impacted by the usage of toxic raw materials.

@ 2| Global Online Environment and Sustainable Survey?| L{ 21} 2X|5}X| %= 712?

1) M7le] AHIRHES 2% KIA7HS A 2H1 Meo| SIS Ejel 1 FO Chsl Q2R o/ EAIFCL
2) Tk Ofte] AHIXHEO| 9755 AHEO| HEHZE0[2ET CHEIXIZt 0|0 MRH3H RIS HA{7} ICk,

3) M7 £H|XH10Y E 8Y2(83%) MEE ZHIE ALE511 oLX] 2240| =2 MIES Yitst=
HZEAXMSO| 2o 2=l P2 0| EIC HZ3ict

4) X|A9HE0| EHHol| S - &S DLt Y= 2H|XES2| HIE2 HOI0A 71 =A] LIEHSLCH

5) S&t0| 2H[xF2| 2 90% H 7t Ch7|of] 22 M Mzl AFZ0| 20| FAUS A=XI0 dES
O|XICtn ost ME 2 R E NE{sH= ZAsko| =94}

65% [ these products / impact / positive / consumers
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Vocabulary

mixed &:é.a_l, M9l / organic §7|% / regional X|2iZi9l / approximately CH2X O 2 / manufacturer MIZ | / packaging ZXA / local #X|2| / fair trade 3HFYA
. B . . = -
state AAGSICH, LSIC} / be likely to ~& 7H5A0| QICH/ usage A} / industrial AF482] / atmosphere Li7| / toxic S 9
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1. How to Save the Environment

Bt UXIZ2 5 AFZO| LYME0l|M HOfLt IR O|MsjEiaet O 2 RATIAS MASH=X| HO{EC AFZFS0| I AF8Sh= siMi=et TY|

o| &, 2|1 IS0| Falishs HES MZshs o] 2H|=l= oUX|et X1l &S YRAFEL). Bt LXIZE F0|7| 61N 2(7t ARt & U=

ZX|S0| 0| Tt oS SO, ATAHES EtAL EI72IE Ze A2 B WA=E E0/= O =22 & & = 71 ZEtsH 4 S siLolch o
FUS2 B0l REHS FX| 241 P4 0|52 E £ U= £ THE YYOICk XSS AHB3alof st Z2, X20| 2HtE |X|=LD =Tt Ee
O[22 BO| HAE|X| §I-E 0|5 7|20{0F BICt. L8 MM AMEsHA| 2= 22 T 20| oluX| =k 7|0fE = U= WHo|ch @F
&S Thlsh= 00171 MBS AIH[st= Ak et HSsts WHOICh 7IMAHER 7| RE=Z HFSIH oLX|S Eefe 4= lrt E2t2E, |

2|, Z0|E &M Bt AARS &V|Ho= FY 4 AUCL OFX|HCZ, CHE AE0| Eilo| MAYHS M2 =E HSsh= 20| R 523

o =
Ch. EtAHIES E017| 28t S5 =S sHollt R2|2| TA|CH7} O L2 282 7HXI2[2t 3|22 2 4= ULt

@
@. M| x| 2%+ “There are many actions you can take to reduce your carbon footprint.” 51E{ carbon footprintE &
2 Q= =0 chsl A7H5t Q= 20|Ct. kA 184, Ways to Reduce Your Carbon Footprint (carbon footprintE &
E HH:H) | X“%OE 7|.Z|' I-IX-IOI.EI.

2.®. (A): chEWEC| 0|8, 25, olojZd AHE XA, xHEHE MM carbon footprintE ‘E0|=" WHEO|LCL (B): } 24, The
carbon footprint shows how much carbon dioxide and other greenhouse gases a person produces in everyday life.
Ofl k2™ carbon footprint= 7H212| L& dEtf|A L0t B2 OLksiErAL} RMTIAE IHSOJL=X| = HIESH=XIE B
Of=L}. L2k slig BIZtoll:= BiESITH= 2|0]2| ‘released’7} S017}0} StC}.

3.@. @H 5|0]| 2= ‘destroy the ozone layer.” 2 F0{7} 9i= E2b5H 22H0|CL. ‘in which’s 2HHsH 252 0|11 ‘MX|AF
+ZAICHHEAR O|C}. t2EA FHZIAIC YA} that 2 which 7} 2fof ESIC}

4.®. (A): (A) O|=0f I-L‘Z._ EHE2 HIZ 2EHE0I ‘There are many actions you can take to reduce your carbon foot-
print.” Of CHst GA|SS LIS 2TSO0ICE [i2tA 224 For example 0] 2= 10| Z{Fs}CL. (B): (B) &2l 281} Fl2| 2
2 carbon footprinté E0|= WS MYst= 2Fo|ct gt 222 carbon footprintE £0|= F7HHQl HEE MU=
Z0]7| uf20| Also= AlZteh= 20| SCt

5.®. (A) vital - “EX0l HH Qx[et ZHE, WH QX|of ZE0l g2io] @R|="0|2H= 2|0jo|Ct. B7|2| TH{S2 =MLl
2 123 22 2|0 ZH=Ct @ important - £28/ @ critical - CHEFS| £235t, SCit / @ essential - 24X 9l / @ neces-
sary - Zost, Zoixol, £t/ ® sustainable - X|& 7155t

[It2kA G sustainableO| 2|0]|7 SAFSHK| 242 CHo{O|Ct.

Ho 0...

2. Climate Change

olx| ;_Tl_ é! }OP‘JE%°| EI-OFA‘I()" Hi
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X7 7|% Hsh= =0 S= SAX Y& 0|2l 2o Helrt Watyt Zasin, Zut $40| YF0| .
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o HEOR ols| F2 WAsH SUIIAR Olsf F M7 SE7} QORE 4 1A S0t AsiA 5T Hoj2ts 2 XISHOR shishn gict’
7|%isi0] 2et 5 7H HOIHIPCOYE T 7| S92t 5h 25E~10E2] 712 442 US3H Stk IPCCE RSO 2 1, WEE Y4Bk
20| 9|2 20} 7|5 ustol 02 A43H BIB0| MEE 0|0 AlZH0| K4S S7Het BM0] SCk"2 HAISHD STk 0f2f3 wsks 2T ey
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HE 1.@ [/ 2 Global climate change seems to have had noticeable environmental effects. / 3.Q®

|1 1. @. s 2%ke| 1XE HM, Researchers remain strongly convinced §|0l] 2= “global temperature will continue to
increase for decades to come”2 F0{2} SAIE P55 2tE 2Fst 2% & “A”0|Ct. J2{L} @ whiche F0{Q| 7|SE &vi| 7}t
X2 = F2 2| cHEALZ which Fl0l= K2 F0IE S=allM 22%] 27| f20f| F{ofl 017t 25T 275 Z20] 2 = 9iCh.
2N Qo= “M”E 0|11 TAL thato| 2i0f 24 efgre 2Ero| EIC).
2. Global climate change seems to have had noticeable environmental effects. ST 222 7|2 FLZ= “A(F0{)7t BO!
A=) EO._II:}(EA})"OIEL 07| M F=0{&= Global climate change, SAH= seems to have had~ 0{&2} 2|0|0j| 27| F=0{ZI ¢t
0]=2 X &1 Global climate change seems to have had noticeable(i=0f| £|=) environmental effects(8Z= Q&) 0|
gl= 2%H0| EMEICE
3. ®. The Intergovernmental Panel on Climate Change (IPCC) predicts a temperature rise of 2.5 to 10 degrees Fahr-
enheit over the next century. 2| 2.5 to 10 degrees Fahrenheit (3IM|2 2.50|A 105) 5 20| TH|7F MM|7} ofcl stmjat=

oF A
Zer sk

3. Precipitation

7120| 271 O B2 +~=20| |X|2t HICHO|M CH7 |2 SEBICL 37| B2 O B2 == SYFHZR O B2 Hiot = 121 O B2 ZRE o
e 4= ACh= XS QI0|EiCt SHX|B Z2 B717t W MAZSE D US| %Lt 1 0|RE 71F et 37|2t siFoll HatE 2o 7|5 of
BIS HIE £ Q7| Hi20|Ch WEFXoZ, M7= 0|0] 100 Hoj| Hish Of B2 Z+=2F2 Y1 U0t 19251 1999 AL0|of| 59| 40=0j|M 70=
Afole| X|42 H|7} I BO| LH2l= #3529 0=0M 30 Ao[2] X|2f2 Tf AZSHEC,. O] FAof w2}, SRS &717} HOHX|= g Hed
2 UZSX|D U= A= Holbt HE XLt LR B2 22 EM7LE = AUCh B2 0N ARIER MK MR7iL, A5t 520 22
O 1 9lo| 80| 22 S2617| 2I8 YT Z HI®t = =2 20]| 2|F5tx ACt

3i4] 1. ©. 20lM =Y =2 X[oll= 20| Sstn A2n W2 X|Hojl= Z4E0| A5 QACkn MY QUCL wh2tA
northern Europe (578 X[%)2 2I=d =2 20l fIXIH 27| 20 G2 rainier (H|7} 50| 2=)7t £[0{0F BHCL. (drier ->
rainier2 $+3)
2. @. () EFE= 1925HFE] 19997HX| 9| =0f| 2} Z4=2F0| tHsiion Tof| w2t A list= 2xISol chsl 4%sta ACt
SHX|2H (b)= B2 B7h= MAMEHS] 2I3lS =0lCk= 0|22 22| SE0 US| ot EFoIct
3. @. X|F2UstE Qlsl O B2 £20| th7 |2 SHslA 471= Ze-2ol tsjo) 25t Z0|Ct. X[ w2} Z4-2Fe| 35t} o
7| LojLt Qlon ot 2|2 o7 |sH=X| MuisH= 20|7| w20 | Change in precipitation pattern caused by climate
change (7|% HstZ 07| &l 2= o] Ms)) 7t 22| Fx|2 71 =FEsict.

®. 22| LIS 9otstH 2= d 520 XI5t X2 22| F7I2 H[7t H0| 2= XYoo= HHYN HE0| fIXIE X2 B+
2ko| ZA 2 ZATSHX| 1, o| Z42k GiElQ| Hishy| Bt 2H|E =efsiCt= LH20|LCt. f2tM Change in precipitation pattern
caused by climate change makes region of upper latitudes (A) rainier (H|7} & 20| &), (B) more arid (& Z1Z=8H0|
E|0{OF BT}
5. @. F7 EAIE! 20| = 27 2HoflA 1925H5E] 1999UIHK| 22| 40E=0A 70 AfO|0]| i= X[2i2 H|7} o 20| 24|
EI2i20] 0Z0f|M 30k ALO[2Q] X|22 AZTSHFCH= LHE2E Hof, ”E Zl this trend 7t 2|0[3H= HIZ 7FE &S 2 @ ‘Y
2l

91 91 xlofe] 24 571 312

9| X|odo| ZtA2F ZEA’ O|C}.

6. was -> did. N7l Z4ES 1004 Mt H|ash= 2HCR, than MEE 22 FHTXI}HIEET| W20 Fol 2= 2Foll=
Z2 SME SS3M %] o1 CHSALS ARSaiOf BT o 282 SAt= is getting2 2 Yt SA} get2] HMZTIMEHO[X|2H 7
0fl 2= 2%to| #2100 years agoZ 1|7{&10] 2fof BICL. [2A] Ltk SAL 27{&2| CHSALRI did7} 210k 0fHA 22 23to| £l

Ct.
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4. Polar Bears
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3121 1. @. 7|% Hste| 2YHel o] 5t Fo| SAZAHL HEX| 821 HojAEe| Y 2fsh 3 IAI—Oil &8t ChE |71A
S0A= J&2 njzick= H% [CE. A @ ‘stitel Bof| 0|l 7|% Hate| &2 HolAkE2| B Yol 2fsh CHE F52| Y

2.Q. Edst %,‘-OH 0|X= 7|15 Hste -b.'-’é!’ﬁ‘.?_' ?:‘?:*OI Ho[AfEe| AAYES Sall Ct
20|C}. mEtA BiZhol| SoiZ T2 JPE HAst 212 7| S Ml ME LS =R
kA 0fl @7]098H Hcontribute to).’0|C}.
3.@. (A)2] 2ol 7| tHste| Asto = O =2 kel 49| Ik X[oR o|Ssl= SAES0l chist Lig0| LE2LL 0= WX
ES07= MAIX|2| &iFo[ x|t CHE SE0i7l= o 2 d&o|2H= LiE0] 0]o{x{of St2E CHZEe| o|n|E 2= “while” 0] (A)
| xt2|of| ZgtsICt. (B) 2oi|A 0] 22 2X[Ql Ho|AkEe| AZEMo R 7|F Hslo| HHEQl Poto| §t Fo| SAI=0 I |2t HEX|
241 CIYs WES0I| WekS 7IZICH= LHO| LIRIRICE (A) 0|2 0 FH|of| Chst M=l oA 2 U ZRS LA
7Hi1| 5 ZA0| Y= H= LHEO| LE2LE. LA (A)0l= OilAIE MYsH= “For example”o| S0{7[0F SiCt

5= Hiny 2Cke| & Ml 222l Declines in the duration and size of sea ice contribute to the reduction in the num-
ber of ice *algae.0f| M S| X|&A|Zta} A 7|9| ZHAT} Zzo| ZA0]| 7]|0{8iCt= S 2 4~ )Lt
5. do -> does. Not only2 A|ZFsH= EX|20]7| Lf20]| SAHR! doZt F=0{2] 2tol| 2LCt. o|uff 2%He| F=0{= the decline of sea
ice2 321% T2 FZE|7| ti20i do CHAl does7| 210F of' 42 SHIE =340 EICE.

5. Acid Rain

T

S0 FEYH = REFICH: LHE2

El¥

2E Sl Qe del ZARI 5552

o 0.

:l._n_OI

AHYHIE M2 S22 =3 22|2| S| HZE DlsiE E 4 AUCH T 28 A, 0120] oA E 21 EZHE 2o 4= AUCk= ot &
‘gH|2| =L QIR CH7|20|Ct. Ofki7t A} HAMSE 1t 22 SIHYR0| CH7| F2| 22 RO= YWELIH, 0| SRIEEE2 St A2t
S5t 2Elst0] MgH|2t N LT LY QASAS JYBICE LYH|E X2 E4EH AZ0 EH0 0fallE, 28 S EY U 528 I
YAE FaliFiCt L5 LR0IE0| 2= YEL 510 LIRJL 22 S5k XS ORI &t S0t JiHe| M et LR0|E £X]2| B7t=
HOJAFEL| B2 F2 FS0| Mg = =T THS0A M MEAE w2tAZICh

HE1 1. ® / 2. /[ 3.Moreimportantly, it can create health issues for humansaswell. / 4.® / 50

SHA] 1. . 2|7t 20| ofi{st WekS O|x|=X| MYsh= 20ICt w2t @ “AHdH|e| si=2 A& 0] 22| Fxi|= ASICt
2.©. OA2| FE2 LHdH|7t E0f| O|X|= 2fQskofl Chigt MYO|Ct FoiZl &2 LYH7L YR0[ES S22 WEEIH 510
LIRE0| 22 E45t= ZiS off7| Tt=CH= LHEO0|M “Also”2 AlEHSto] oF 2%H0] 0[o] AtAH|7t Fol O|X|= 2teisko] Chst
HUS A&t At mEtA 0T EE0| S0iZ 7HE =S X2 Go|Ct.
3. More importantly, it can create health issues for humans as well.
Yol 2F9| chEE{Ql X0l “Fol+SAHSH0{"LZ0|C}. X ot EEOA ?_*E.‘-.’E_l acid raing QIECHYAL it 2 CHA[S}0]
0|2 ALZSICL 0|0jX|= ‘Y2 + UClEl= SAZE FOIT E3 85I} ‘UL 2HIE'0[2k= SH0j= F0]

2l Z38 health issuesE &8st £ SAML0| SHESH= IZHf|AIT S22 for humans as well£ ¢1Z51H ZICL
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4. 0. (e)7} EE._ 22 M EM, Increased levels of acidity and aluminum in lakes and streams disturb the aquatic
ecosystem -+ $5=2} JH20lM =0Tl Ao} UT0|E X|= =4 MEWAIE wRHA[ZICH 2t MUstn ct w2t L20)E
0] sdojAtEC| slipo] E|l= SE01|7 suitable “X{ghst” S142 THECH= Z42 R A 9FX| 9H=C}. (suitable -> uninhabitable “&

A |-l A x|
sglevoz 25 Te)

rlo
Ho

5. ®. Increased levels of acidity and aluminum in lakes and streams disturb the aquatic ecosystem -:- in the food
chain. E=0IZ AP0} A0 5 =R 4 MENA|E w2tA|ZICkn MYstn QlCt

6. Plastic Waste
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2|7t MF oM HIREICE 07|71 Z2FAE] M27|15 HF|oHH KIAXQI WSSHY, SISt 1PHS MSIA|A OS] SAE FUSHA| EICk
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22 XHsH Ex| sHiES st MER2 YAlo| Hoyds ZZsh= 20|Ch w2t @ E2tAE 2 ZHIE siEs| sl 71E2
HhHollA] BiofLt |22 TH2Clo] EQSICE 7H FHIZ JFE S|

2.(b) . () 2F2 IHIFel g0 WE et x| FIHE sHZEH Hufje| flelo= BN, (b)= 2 B i Z2tAEIR2

o= ol £E4S DWsto] PHSOIX|7| AFRICH= H, (0= *E}*Fa 2% 2Xl= 0ol st 3713ke| EX

2 QI8 M MAI7t ks U AUCH= A, (e)= OlME 22 A

S MYSICE w2t ZH|HQl 0| S0t sfiAztat= Faksin Z2tAEIS| WA F7|E MUst (b)7f"*'1| SEq} 2 gl
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7. Turn the Lights Off
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o gote| 20| RutE|U=X| 2holsof STt 2|1 LA, AZHE Z2E A87E FOITl 7140 Z5tH ElCt of2=0| H
092{20| Ak R0f| 2} ZtLEICE K8, 51 F T7|E AH8sh= AlZHo|Lt A= ol wh2t EH2b 4= QlCt kWhie 20MIEQ| T7|2F0| HE

Sil4] 1. ®. ELHE0f| 1t will also serve to minimize carbon dioxide and other harmful greenhouse gases. El= 282 Sl £
= [MSIEEAE 2[A51E 20k OfL 2} CI2 SHER 2ATIAS F0l= 8 S STt MEE|0{QICL U2 GfIM CHE
o

k=2
=
Y 2
7tAE BIMAMZICH: 2812 22| 82t YRISHK] pH=Ct

Al

= Xy

2. @. Turning off your lights will help you Gconserving both energy and money. = 584! 2ZH0|C}. SAl helps A
EANZ 2MHO|E SAIIE £2 to SHAIE F[5iC} 2EHIM SRE0| XI2|0fl Q1= conserving2 SiiSLALC] HEHO|7| W20]|
AL 2X| O} conserving -> conserve £ to conserve

w

HO

@. F0{Zl 29I These lights tend to produce heat as their primary electrical conversion before they generate
light. (0| H7E2 WS WASIY| Hof| WS F H7| Hato =R M Yst= Zeto| ACh of|M sig Tt CE 2L | of|1X|E
2 WHA7|= o AFSSICHE A S & 4= UL mEtM o]z WU S0 oLiX] £=20] 7FE EX| 242 TF2ts EZ MASS 1
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8. Recycling Plastic

SHAE| M2|7|7} F2 SHAEHZ tHEEIHA WEE Z2TAE] M2|7|E £0[7] 9I6t Wots DMsHOF &it= 2271 #X|1 ULt 0|28t S HE

% =
Y517 215 ekt A7t TYE(o] Rton, Jrg Ei A8l U F sits JivhRlo| |2 e HIHo= Eofst= Zo|ct. 5K
o p.S

O 2tE ZatAE| M27|S FXIS st ZF HE|= A2 WHBS 2IF HES o] ot|ct. Enxol Aet&S fIsh 2IXI7} sHok & A2l
A 27 HMA AT UCEL 7HY 3% tlE 27| THE E2tAEIS ¥s10] T0j| w2t 2R3hs W0|Ch 7HY &3] AL8El= EEtAEeR

PET(Z2[0f 22 B2 ZE2|0|E)= Z2tAEIYN 87| BEE H| E5| ALZEICE 0|S PET Wit 87|= 2t gl0| H|0{ = HEo{of 43Ho=
TEE 4 U0k BE PET HIE0| M2t 7Hsst 242 ofL|ct. PETEt 7|Et 22 2}E! H|C|QH|0|Z= 80| E7hssl it M27| 2 57|
&|0fof BiLt.

HIE2 HIZSX|et HIZRE TEE| E2| AFBEICE o[ RS2 MEE £2(|7|S0i| B2AX|7| Hofl 22|=[ofof SiTt. 2|1 Z2tAE] it 87|

of OFEt7HR| = TH3LSHA| MIZ{SHOE St

LYY|M SHOHE £ QU= £ CHE Z2tAE! Axlji= AE|ZEOIC) 0] AREHOM 32 = A= 72| 2E R E5, 0IE

M, Opl, ot SOf| AFSEICt EBL AFol|M E|0|2 OFR AZ87|2= AFEEIL). CE SRt OHEVIX|Z 0| S KESH H|7| Hoj gt

BICE OIS 8710l S4! MAH7|7t Ot AUCHH, MZ{SH D A7of SHC). 2fH, AE(7, FHatdet 22 = FE2 42)7|Sol| Bi2|7| Hof| x|71sHok &
Lt 2717t U2 7N FXIS0| EX| RE 32, 22 ZZ o= RUNof it QUSHL SAE RNH7| M7t 27+sE ZLd HIMEE Ho |22

St

S0, 17|, 4
EA| Mi&sfiof

AT

gH11.@ / 26 / 3.6

SHA] 1. @. LYOIM E3] ABEIOIX|= MIZHX| CHE Z2tAE] IjES 22| £7{E o X[7{0F st= WS MYSH= S0|ct. w2ty
‘Proper Way to Recycle Different Kinds of Plastic, C}= Z52| Z2IAEIS 1|&L235H= SHIE gy’ o] 29| H=2o=z 7=t
’5‘.’5.-_‘-3}Ef.

©. LN0l|N B3] ALRE|O|X|= AI7HX| CHE S2pAE! KR! PET, Vinyl, 12|12 Styrofoam S 22| £7 5t WS
£ 2O0ICL F0{ZI 29| 0fX|9t RE20||M CI2 72| S2AEIS FEaiM 242} uf2 2FaH0f strtn MEstaLiM 3 22eR
MZIx] Z2tAE0] Cigt 8US sh= (O2F0| 2= 20| HHs|L
(2] oHx|2t E&0| 2= PET HE0| & 7HssHA| 2¥Ch= LHE0| Li21 ULt o]ojl o]ojH E= PET AHEZ E[0{AX| 2t CIE
XHZ0] 440 R}= HIC|E[0]| =] ZH U7 |2 H{Z{X{0} SH {11 M&3t (B)7} 2= 20| EU4 2GICE
0K (A)2] 22 T2 EFRE1} 0IZ7HX| 2’ 2h= L2 o]0 2ol|A PETSL VinylS MUMCH= S 2 <~ AUCH [I2HA Sty-

-

rofoamoi| Ciigt HHYS 0[017h= (A)7t OIX|2H22 2= 0] 22| 20| LSLCL.
3.0. ¢l 22 Moz J2IRCo| YHE CIRD U= 201710 G0| YEHZ XHs|CL OHE YR BY £+ XU EF

S0f| CHEX| &2 L8022 Fo|5irt.
4. ®. ‘When it is impossible to remove contaminants and food residue, it becomes categorized as non-recyclable
waste. Biof QS HT A1 TISS R 4 IO, I TEES THsHX| 942 Mal7|2 BREICE 2Hs AHO| MEE|0]

A= ETYOICL IELN G, SAE0| 22 Y= 22|+ E BiC) 2t Z82 22| 81t LRISHA| =Lt
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9. Bans on Single-Use Plastic Bags

Bt BHARE 20194 4212 HAXIR HS9t EE Maf|7| X Yoto 2 i 2 AMEZM HIY BRE AL83te 21 3% Zioj2tn &

=
EHC} 0] BXIZAIS HiH 1658 0[E| 0[A2] 2,0007H CHE #HOLAT 11,000 #HOIA0| ik OlECk
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olsini Ysig 2X| AR Zoia YUCh ATOIS 1S 9iol TALR S MBS 7H58t FHO|Lt S0|2E S} 22 riet2 Mot sict
0l 2XIZZIE 07! Y= ZICH 3008t o] W2 2| = 0|tk MAIZRZZol rrrznd. H M7 iClol 7o) 19f 53t Eo| Eataslo] =xf
5t ICk 2015142] 3 0] Diid 5008+ E0jLA 1,3008H E0| B RYUEICHS 20| Ba{HCH 205010] E|2 B M ticiel 277|=ct Zat
AE| 277} & LiZ Z0[2ks Blo|E{7H Lrsaw, B, Al 7|glo| #E2 :';%rEs SursioiC, siniol, 25 & W7kE BTN MEH 2Rl

HIZEX|= 30% 24O, SRS 0|2 S2tAE| | YSH0 L HSH=X|S Q51| 0f2tgt Zdnt 20| QICtn 211 ULt
HE11.® / 2.0 [ 3.Prohibition

SHA] 1. @. EX7L Q= 22 EAIFR2OR ZAH2 JMEAIZ AEE|= Z40] 2Lt Data reveals that by 2050, the world’s
oceans will have more plastic than fish by weight, prompt -> (prompting) governments, citizens, and businesses to
take action.

2. ®. Ofx|2t 2%l In a report published earlier this year, ~ to the extensive implementation of plastic ban charges
and constraints. Oj|A SRS 2 SR HIEEX| Za= LS A2t 12to] AT FCE w2t GolIM HIZSX] 24

7t S2HAE] AFE TRI2 Q0] QICH= LHE2 22| L8t YR[SHXA| gf=Ct.

FIF

3. The act of officially not allowing something, or an order that does this. 321X O 2 0ftH {2 5{2t5}X| Qb= sHQ|, EE.
0|27 8t= YE. o|2k= 20| 2 =0]| LI2 03| S F 9| £20]0]| 71 L2 THo{= Prohibition (X%, 2X| 7&)0ICt

10. Cookstoves

=0l A7k A 7|2l XM QIR|(German Watch)ofl 2 O|QFOL= 7| SHst0)| & M2 Fofst Z7iCt 0 Li2h= oY 7120 =EE|0f U

ARIS2 S of7| ez Qs =2 010l XEHC= LEE|0] QUL 0|QHH= OFFE B2 J1gollM Bzhs 2|2t ol AH85t L
0f MLl Z7|Z0| 53| BAsICt. WS US7| kM ESS 5170, 2= 22 six|0 EY BAS 2o7 HitE o= Sy 2yl d-te =
st UCH GSZEIA = D|ok} OfOF22IL| X0l &S £2|& AEES5R TS HISHC 'GSLEA X2|8 AEH B =2 ME'= 0|¢H} =
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2 SHAI7|0 EESH MBI HE 120l 7|05} | £ S|Ysta Ut
HEH 1. vulnerable, abnormal, erosion /| 2® / 3.® | 4.®

3l14] 1. vulnerable, abnormal, erosion 0|7l Q&2 M S S Mm{E0 CLSap 2T}
Able to be easily physically, emotionally, or mentally hurt, influenced, or attacked:
-MAE, BMA, FAUE X, dg L= ZAHS A LS = U= 72 -> vulnerable
Different from what is usual or average, especially in a way that is bad:
AL BRI C120), 55| SX) 22 HOAS 02 J2{3: HIFARIL 7|4, 0|4 > abnormal
The fact of soil, stone, etc. being gradually damaged and removed by the waves, rain, or wind:
-£, E 50| u}l, ], dizho]] 2|5 Mxt &M D HAHE|= Z4: 54l EIA -> erosion

2.@. wizo] Z3i8 232 “OjoHie) “LH 37| 2910] X243t 7420 01F0{F GS Caltexe| FAEH Xjgl Z2HEL Ojok}

= o

ZOISo| do| g £0|1 #X|e| £ HSES0 8 Jio|ch"2k= o2, s MiZtol= 7|0{SiCl = 2lo]2] @ ‘con-
tribute to’7} S0{7}= zi0| MAS|C}.

3.@. 0| 2xta Z+o| 272 QIZsH= T2 BAIIYALR! whiche| Fofl £1F 7t Ql= AL which7} gte| 23t MA|E SILIZ o}
F= QES ik 2t o] 2 SHMSIAIH “FErg RHE| 25 WSS 51, ‘0|2 (which=gF 2% HA)0| 23 22 Yt
2|0 £ RS Uo7 S0 MRl ofedsto = 0]0JZICt = 5E0| EICL O|XE ‘ElZ+which'7t o 28 MA|E L= H2
which& 3913! th43 Z0{0]04, 0]0]| 0|0{X|[= @t damaget= SAH= F0{0f| %2:0{ damages2 B ZAE|0{0F SICt

51



4. @. 22| 628Hof|M M5 2Ete| oF HE2 KM “Trees are cut down to make firewood, which in turn damages the
21 YRS 51 ZHOo = £8 Wrlree| 1 E0| FAEIC = o|ojo]

= o

forests and causes soil erosion...”2 2, “ZH=t=2 Ot
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He11.® [/ 2.(D) / 3.® [/ 4. urgent,incinerate, emission

M) 1.@. 9| 22 BEIAEICR QU5 H MIZ|HQl 21X 2|7|2 A|ElSI0] S2tAEIS H%%%r
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3.Q. ¢l 22| Ox|2 2F0|IM 20t B2 S|AFE0] GS Caltexet Z2 #ES FIE AS 76t ULk W2tM G2f LIE2 2=t
UX[SHA| R4=L}.

4. urgent, incinerate, emission. F0{Zl A2 MUS S AT{H™ CHSa} 2Tt

Very important and needing attention immediately:

-4 F25H0 F2AFl o7t Wes: 218, AlZét > urgent

To burn something completely:
-2o1712 2kH5| EfRE= 2 22F -> incinerate
The act of sending out gas, heat, light / an amount of gas, heat, light, that is sent out:

-7tA, g, 2 S2 W E el / LHEWRIE 712, &€, W S| &: HIE -> emission
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12. Green Bonds

£35| 7|3 1 0[450] ek ASIA EHAIO] S0FXI T QUi AfglOIA BH0l Chst Met 20| T2 T7| AL SMFHS K|S THsA
2 E715t0 S4 HBARIS K2sk| SIsh KIFE HAOICL THHOR LoIAIE, MBS OILIX| Z83}, 22 WX, K|S THsE S5-0fe
oo, SMEN| 5, IR WS, MRS S, |4 7HSE 2 BE| S2 SEE SHs A0l Cfsh WY KIS Btk =
Ho| Ict. 7/2le] AEEY LS Cistsie S 22 28 7|¢oj2ts 71 o|0|x|S M|nBich SAxtHe| 9

= 2

ST75I1 7| OfL(2t AkS|of O|X|= SEE el ol oj

tol

Azfe| s ofef 748 B
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cisto] HRERRE OIS X

S5 % LR B ofekn ck 8 Ol ol

X3 Welslt Homs 28 B ZAe| TRIEEE Hush 20| U0 A4S
“JRRE: O LS $S 915t 888 SBAE"0| £l 20| HHsic
2.(d). 2t 23°| oJ0|S JHEOR KB, (a) JRIZE Srae] 4, (b) SIAHEIT AL Chra, SIAf] 2181 00| AT, (0) Y
B ERS SRAR THY 21243t 7, (d) 714] QIAZERON ThEH B JHY) B, (o) JROIE 330! §&0| HM HEOIME J2!
=8 X3 YREICHs LIOICH T2 JR1EC0| BEn MRUME HEICs Lhge HHIA S50 02Ut (@7} HEolct
3.0. 9| 22 MUHOR JRIRCo| FHS [T Y= 201710 G0| YHOR HHSICL OHE FHOS HY £ YXEt 22

4. enhance -> enhances. ‘It not only (SAH) but also (SA}2), 1712 (SANS) & 0t ofL|2t (SAI)E it 2] SEfo|LCt.
Z0{7} It 2 3213l £h4:0]7| i 20f| 2ol 2 “diversifies”&|& 50| 2= SA} enhanceT 3Q21&! th: SALe| SEHQI enhances

2 23E|ofof ofy BHIE 20| it

13. How to Throw Away Garbage in Korea

SHY S0 I=H 2017 CHEHIS 17| 2 THEEE2 86.4%Ct SIX[2H0| O] £=X|= A HAEES Fets| BIARC|ECt= Z2ls720 7Y
Ct. thas| h7 |2 71 YNIM 2RUAN 0| 2 M2 T2 |22| & 2tE HoiFE =X(0]7| HZ0|Ct AT} 017|0lM 39%2| M2{|7|= Mgt
517190 LR 240] [0 QA0IA Rt CHaolA HRE|0] 7| Elct

U ST £ Ho|22| Et 0|42 22|77t O|RFCHH XHEHE0| 756t 12{|7|S0|ct. 22| SFS lsh MEEES =012{H, SHIE 22|
F7{Y2S Lolor sty M, ZE2tAE] 7| H of LIBE2 71320 HIR1, LIZS0| HOIR!X| =5 S0fl & tliEsHof ot 6L xHEO| CHE
2t £, 0P S2 Hlofu w2 sl HiEsHof stot LS o= HXIEX|, I+F S 2YE S0|RE MEE0| ol LHtMa|7|= uiEs{of 5
C}. E8 Z0|H2 F0|7et 71=25610] © HiZsHOF Bit. F0|Z2 F0| Wt 8iA| w2 2ot HiEaHof Z2t80| 7Hs3itt. ZO0|HE Wz 28 +
FAAZ]|7| 2 B{2{OF BHCE M| A, Bl BfA = H2|7| Fofl 2fEnt E|0| = S Y200 M K|7aHof BTt AE|2F YAE 0|2 ORXZHX|O]

Ch. X282 2lsH CHE ME | 2fO|Lt E|0|Z S2 25 HlofLiof St

M1 1.® / 2.6 [ 3.rinsed / 4.residue, discard

4] 1.®. MBEES =017| 2lal SHIE Z2|+7{ES 2Lotof StCh= LiB0ICt 27| CHE SRe| E2tAE] M2|7|E SHIEA 22l
7 ot WS HYshs SoIch U2t @ “SHEE THEE WS of= A2 52470 22| HF22 71 HHs|C}.

2. ®. 29| ofx|at 2%l “The same policy applies to Styrofoam boxes: --- should be removed for recycling.” £ S5l C}
2 7ife] B2AAEIST ORIIRIE S E2l4740| MBS MBS 9ol CH2 HHS| 20ILL HOIZ S2 2 mojL
Of SICH= AMMS & 4= QICL I2tM AE|2E0| XHEE 27158 H7| 202t sk O 22| L83} 2R[SHR| =L

3. rinsed. 3=0] plastic containers and bottles2| SAt= should be p.p. 2| HEHE F|5t= £SEHO|CL A2 rinse= 0]
£ be + emptied?} HEHREE 0|F0{ FH&F ZH2 Selj7t £[0{0} SICL. HEtA should be emptied and rinsed =2 11%{0f &
A gHt= 20| £t

4. residue / discard. “FL $£0]| I0{F7L} wtZl Sof| 2 SE” 0|2H= SE0f| 3H= CHo= residue (FH01E)0]CE. “T] OAF 215}

X| 27{LH 2 25Ix| ¢47| w20l FA7HS Bi2|7LE Glol= 270l Sk= EHo{= discard (2228t 24S HZ|C, 1|7 [SITholc.

In
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14. Climate Change and Floods

ToIzte] K7 713 wel2 A o INSHE 714 AEoR S47t o X Sastn 9tk 7I% st 2 £2 A2 HE 22 £X| 12
£4 918 FIZICH ISt 37| 2671524 420 B JH540| SO 1 20t 750| BYECE 37| 50| £ 48 BYS YY

ol Y, 7|2k & el

ol

740l QEBICE 1Ol P2I0| X7 2ETFARY HDS 7|Z3H7|E Ok #AH X7 BF 2 X|et 7| E8CHISL
7h 300 1.1 O (HSER A0l A4 QICHs ZHOICk. 7|SEIQ 2Tt 7| S A0l E4 Cf O[3 2[5l $40| OfLizt M2
2 ZAolod sHotch A% siA ZISS0| A ZHolck £40] B O WE ST watshy| AIRSIOR, FE, 7|Y, 1210 ARES 2AE

=L 0l &N|Z 22

Y2t AN CS SaIEH &M S0l CiME FHIS sHof Bict &% R2[0| 7hY, TAl, MY, Ql=Z2tE T, HYSIyLL R of 7|
Of ZH|=|ofo Sict. afEslizIo|Lt EX| BXat 22 XIIX 7|2 Haf2 S5t 7|F 80| 7HE Z0E stAZ 4 o8 2 TIX|shA g 2
QI ULt

HEN1.®@ / 2. Mitigate /| 3.0

ald] 1. @. Changes in climate and land cover, such as removal of vegetation, @increasing flood risks. 0f| o] F0{= changes
in climate and land cover 0|0{ ‘such as removal of vegetation' 3012} SA} A}0|0]| £0{7}= AtQlF20|CL 2N @2 2
Zto| A7} 210k 3H= X}2|0| 22 increasing -> increase 7} £|0{0k -'?-*é‘.‘}; ofake F340|Ct.
2. Mitigate. To make something less harmful, unpleasant, or bad. £217|2 & s{{E7{L}, & E3l5I7{L}, E L}wA| ote=
2. 0|2k= 2fo|= X|20f| LI2 0% = = sHAof| 7R 0{22l= 22 mitigate (2tstA|7|CH) O|Ct
3. ®. Ofx|ak 2%t Natural climate strategies such as reforestation -+ as these will mitigate the consequences of ex-

treme weather events. O|A] XijAl2I5}Q} Zt2 F2F0| 4} ZE2 7|Ato|tHo| Qg2 215 A|ZICtD M&5tD QI

15. Zero Waste

‘Ma7] HZ (M2 YO|AEYE 22|o| AMa||7] HiEZFS 0 EE= 72| 00f| 7P47| E0|XH= &t = Ul E

£ % JIX| Ci2 ot Exfjst=rl, 1 ek 25 SUsIC 2Ot X% 74sst 10X H7 |2 22lE 2Isto] ofzizt
L. Ol= MZ2| 9 7| 2|Z AN MEES St

ZXOR CIR0| HE Y F7171 X|& 7458 X1e1o| A0|2XME 22I0|=E 2= Z0|Ct

O] 7HE2 1998 HEE ABX|7| A|ZF3H1, 2002'A0] = DHZITH A2t CHX| & CiotS RS H|Z Y0|AE A5|9| oS thE S0l 22l7] 9

3| M7 M= YOIAE 21W(the Zero Waste International Alliance: ZWIA)0| MZI&|2f 004CH EHHoj= 0|=2o| UL Z=0j|M HZ H0|AE

Ct. 20 =
SEE HFsIC A2|ZL o S 17|12 22| fIRI5l= 200110, MZRA|AT SH5= 20021400 M2 H0|AE SEE SEIFCE

2 2lostct. H|2 Ho|AE0|
Z{ol|lM BlojLb= 7|12 42

J0jlAf LIOL7} HIZ2| HA| 8 718 =

fuin

e

F|CH3letn 2R o= Ma||7|E S0|XH= Zo|C

[y B

).\I

J2{Lt M2 HI0|AE 20|ZAERY 2E0| X[ ARS|0fl LIEILIY ChEol 0|52 7| & 22 2009H0|R{Ct. Bxiol= Hot X% kst wv |2
22|E &l Lioprtof & Bedo| 3HE SCHE[RAM 2Ot B2 ARIE0|, 55| #2 L2|LIY McHE0] M2 #I0|AE 2o|ZAEIUS =5 9
Ch. 25t 22101 M2 H0|AE AHRLE[S| SIYS2 Hit M2 EUCZ M0p7h= 0| MER 22| WAIS Saff AHAS0| YoM BRE HIst

I UUEX] ST, RFAIS 2| 40| S #=35tD H2A B QICHD Z3iCt
HEN1.@® / 2.® /| 3.diversion

SHA] 1. @. 22]|7|E ofEistn AZishs WA BlojLtn Mej7|e] 2E |Astet= S SEE Sh= Zero Waste?} 0187 2=
ARSI A M U E|QI=X| MH5H= 20|C}. 2fM The Rise of Zero Waste: The Road to Sustainable Waste Manage-
ment, Zero Waste2| EHl: X|£7Hs8H b7 |2 22| 2 7H= 270] 0] 22| S22 71 X Hs|Lt.

©®. ZE0IM is of| slidsh= F01= a growing number of peopleO|C}. 0] i x| Z£0{:= people 0|0{ Z4=310]7| uf20j| 0]
0|I [}Z beSA: 2489l are 7} £[0{0} &I}
3. The fact of something being sent somewhere different from where it was originally intended to go, 2l2fj 7f2{11 3}
H 2ah= CHE 20| F17171 ELHFCHS AH. O[2H= 2|0| = ‘diversion, (48) HIL7|[HEH, 3|2 7 HEO|CH
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16. How to Discard Single-Use Masks Safely

I2LHOZ Qlsh 2s|E 0pA3Tt 22| Atgle] E-Fo = Xt2| 7| ULt 0tA3 7t 2| HIO[R{ARRE] 2|5 HSSHFX|2 SA0 SEHAIS
Qs lot B2 0| 0pA3 17| 2S0| wlst lon ZTtof H24ZEl OFAS 5t =0l =[7| SI1SIACE o|FAH| H2{Z 0pA3S50| opdS
=52 MALE 2IRst Qlohs R3{e| 427 LI Qlot &2 YZ 0= 0pA3 220) @o| Kol Zuh7 |7 EE|UCE EHYO| A= 0]l T2

FOIUUT Etof] Zol7|o] HHES HoiQle MENICL 2217 ALESH DIAIZRE] OIS ES B S5| 2lsiME OtAIE H7I5H7| Fof OtA
T2 Hatuliof stk %7 sfjof 227| ojEIX| 22| 24 2EYol|lM EA| OFAS T} iR HopiCEte Rt OFESES oiE 7HsdE £

4 Q17| W20|ct DA E 223H= 40k SHI2A| H)7|5Hs 2 25t 11 S Q5|
M 1.® / 2@ /| 3.disposing /| 4.0

A
0k OLLI2L, SHIEA| H|7[sh= 240] Ui SLsICt”E Sall o 20lM 2717} MEstaAt sli= XIS mietet £ ULt U2t @
0| FEto|ct.

2. Q. Foi7l 2F2| Oix[ef £E2 23| 0tAI T} MEfAlol 20| Elck= 22 ELtn QIC) 0[of] O[0! U2 &=MZ= OfA
39| ALE0| St w2t B2 X|= L= HOIX|N 0] = OP4SS0A| 2 2I=dol EICk= Li&<| (B)7F MASIL. 0]0{A AX|Z Ot
237t OPSZE0iA| 2AdEkS MF MEIE MYsH= (A)7F 20 E2E 0| H|s}7| 2l OAIE BiZ|= SHIE WS HUs|
= (07 Opx|2Hof]l 2= Z40] 22| &A= LSt

3. disposing. We should cut the mask straps before (A)dispose:-- 0f| A (A)= FX|Al before Fl0f| IXISICL. L2tA SAtRl
dispose:= 0| Xf2|0f] £IxIE 4~ gleL= SHAL #EHQ! disposing0| 210 Z{=3|LC}.

4. ®. To protect wild animals from the masks we dispose, we should cut the mask straps before disposing of them.
o| E&0IM OPIESES E5517| flo OtAIE B = S 2o} SiCh= AMMS Sfolt 4= QM0 [i2tM ©2 22| L8t

R[Hx| BE=Ct.

17. Methane Gas from Animal Agriculture

rir

sHA] 1. @. 29| oix|at 2%kol As well as wearing a mask, it is very important to dispose of it properly. “O}A3 S %235}

HIEIAE 225t 247120 = F HLIo|Ch 37| B HIEE 24TIAE X231t 0[] M siH &5, M7 ota| S HZie S#EEH
£ go7itt 22|o| MY AR XF REE SAIQ 17|7tHIZ HETIAS RUSHE FQ Q10| FUAU2 TAIA| 2A7tA HiEZS| 15%S
RX|5HH, Ol H M| nE4TH 2ATIA & HISZQ! 13.5% 20t =Lt A5 7|127| flsiM, FHLt o B, SXX|, HIZE QR sirt Hrt X
HHo=E, 4 5027t 51F W 20012 HIEIAS YESIC X 2HStE WXISH| olah, T MAXSE 71552 HIE/tA BdS F0|7|
Qe A7 & ZAZLO[FOIX| 11 QUCt. SHX[2 R2(7t AT #Ao| HISS CS =0ICtH, 220 2Zut 8ty RES X2 £ = 3%l 2
s 22| Loz £ IS Ao|Ct

HEN 1. / 2.@ [/ 3.subsequent / 4. are

rir

sHA] 1. @. 2A7IAS| FHOI HIEITIATF SN WsHH K240 HIZS SAEM 2170t 8142 BF X2 = Ch= Lh82l 2
O|Ch. w2t “HAE o M 17| S E Hoje): S S Mol Z4ZsH W7 0] 22| S22 71 MAS|CL

2. Q. 29| FHl= |29/ HIZE F0iM 211t #4S BT X|7|Kl= LH0|C}. [w2tA if we increase the proportion of veg-

etables in our diet, “22|2| Althof| XjA0| HIES S7IAI7|H70| 22| FH|et 7He Ask2 EF0| ECt

3. subsequent. Happening after something else -> “C}2 0t 2! 0]Z0f| 20{Ll” 0|2H= 2|0|2 0] 520i| 7F& X Ast Cloj=

subsequent O|C}.

H

4. are. 2%0|M F0{2l a tremendous amount of water, gazing lands, and fertilizers= water, lands, fertilizers 2l= HAL

7t 8EFZE 0|1 QUL WEtA S22l are0] 2= 20| HESIC.
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18. Circular Economy

™ M7= 2t=st o7 |22 8% Qlo) 0IF Z|Chst £01= 7| &=0[X|2 E7tulsHH| Lrdsh= 7|22 oA sloF €712 0| 2XIS siZst7|
Qlall H M7= X% ks w8 ZAlol| S5t ULt E5| S0t 2 ‘w802t E2= 0] 28 ZH=E 17|22 glol 1 Xpe| X|EHl A
2 SHE ot= ZHAACH =8 FHE d¥shs YYo= F 77 A=, W7IE xtistet o7 |2 ofluix(Eich ml7 |2 xipistet AR b7 IS
oz Heksts AS 2nsict. R2NE JFHRIZAM 2452 &6t E2tAE H7|2S MABSHE 2 W7 |2 XHlste| £2 oflch £S5 4E
47|20 7t 222 F&5hs, 49 Loh= DA = ALste| Leto|ct. HiHol|, H|7 |2 oluX|= m7|E2 B7IL T ol
X2 U= A2 ofofgtet J2{Lt SFM Ti7[E2S 2246 HAMSE, itstE, o2 |Ests Cio|Si S f5Y RUSZ0| HiEEC of
ZHIE siZat| flsiM E2t=0tE 0188 = A7t AR ZatR0t 7HA S7F AFSEICE O] WAIR Y | 2USH wlziE 102212
E0|1 X2[aHof & M E H7[X| =Lt HIF F Yol Ch=7| S2IX(2, HH2 17|22 MB3iM X% 7hs =8 FHIE 7Hss ste Mz2
AE S0 Wrh= Holoh A 3= GSEEA0| A2, SH2| H7|2 ME-ZE0| 76%00 BStL ULt 0[2 20| 7|PE2 & EHol MUS

1.

=

Moz shzE 4 i AlAT =210l UAMO} & Zolc

I_t')k
2 M
>
B
E

El
rfo
=
N

HEN1. @ /| 226G |/ 3.0 /| 4.overwhelming, inevitable, extract

ai2] 1. @. 9 22 s L7|= D Y= XS 2I3t HBMOE ‘a8t 'S MAISIN 27|12 28 FHIS 0IF 5= U= YY
T 7RIS MM 2t S HEoE MYt mEtM o] 22| FHl= @ “=8 BN 2YS 28t mVIE MAE 8 F 7t

X|"2 2= 2i0| 2L}
2.0. 2l 22 MK &8t ZH|E 2t2ts| MUt £ 0|15 0|F517| st WHSS Ao0sHC) w2t HA (C) =8 BHIE AM3ig =
7IX| HHS 2icts JF 7| =] XHAstE "W A -> (B) HI7|E AH3}e| 8 A= 71 24271 o4 Jhsst 3
E HPE 10X st & 2l H|7|Z ol|Lix|s} A0l 2 22 ol -> (A) 0248t £EES SiAE
7| QIgt Z2t=0} FtASH WA A0 W F WHS QoF HE|o| =ME FTHE FMsk= 20| AIIARLCE

s 2| A2 “H7 | ArsiEt AX| H7|E2 XIS E HEkst= 'S o|u|siCl 2= 20| £, 02} 20| SALE ‘~ét=
222 HHo| BALKEH AL85H= WS SHAIE} 8t SAL F{0l| ingE 2QICL. }2tM 0] Z2+= conversion (BALEiEH0] OFC
“converting (SHALE2t5t= Zd)70] S0{7}0} 2Ct. 2t conversionS 242{M ‘conversion of actual waste into resource’
2 YA} BAL ALOJ0f| HX|A} of £ '20{ 21ZsHOf BHCE.
4. overwhelming, inevitable, extract. F0{Zl Q& M2 LI AT{HM L1203} 2T}

Difficult to fight against / very great or very large : - Cig5}7| 01212 / A-EHLIZLL, 0 2: =0l 2L} Z=ish ->

’

r_.9.
il
_O'E
[

»
H>
riok
oN
=
>
e
4n
e
=0

-

overwhelming

In a way that cannot be avoided: - &|g} 4= Qi= WO 2: Z7}u|sh ZI91XQl -> inevitable
To remove or take out something:-M|7{5}7{L} BHLHC}: 23|, =3I BLt -> extract

19. Transforming Seoul

HES ABISO| 21Z5hn st S 4 2 9l 2w ORIl A2 HHKEAIA HR) 018 T4shs WS Clstlet, X 0] o W 23kt

Ol KIS RHE OI83HA| =S Heishs 't g Lol SASHS 2T 7HS Znfaol Wl 3 SiLI2 20[ck 0121 KSR iy |7k, BRtet =2, of

Lix| EXIE si2ist 7Fs 2kl wHolck o] SO & 2278t chie] XS QITk. Rt iz 'Ol 1002 ChEt ZofsHE DIMZIXIS 917+ 9%

UA3HD, AHSA 5 HHETE 0.3% 243 3329 20| HHOAHIE W2 4 9k AP, S20] X7} HOIRIH, BE BFe| U4 5 61139

21| 0] Al HIST} 4659 20| AAZHIS Horgt 4 9lof HutHo2 SHAIS| Zu| WS 7HHS oIk 23 % gl '8 EAle| o9s
o

= AN
£ ¥X5| W3 0| TAIS LIS 27IRt 47| 2 Xz 8hs Ho|ch
11O / 2@ / 3.6 /| 409

SHA] 1. @. 91 22 MBUIA F 18| (SRS BNl o4 U8 NFsHs R i Y 258 319 729 N B} i 2 o,
JS0IE BE IS, 2 HIS, 912 HIE S 43 HIS B2 B} IS NS X g HI0| NS TS Y| E0 IR
H

EAZ 2HS Z10[2H= LHEO|CH mEtM HIS2 @ “Af Q= E: $”o] HHslC}.

r
x
THo
1o
4]
ol
1l
ra
mjn
B
[
1o
0!
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2. (d). Q)FE (A= 25 xt gl= ol YHS CiYst AR Saif Yst= 2YS0|Ch a2{Lt (d) “At gis E2 2008 H|
o 5t S7lzls FH[sIH AZEIICPE ZH2 &t 8= 2ol “R2"S 4Yst A= MA| SF0i| x| o4=Ch.

PA
3.0. 7l XZ0IME= At §l= 2| Cidst B3HE AoHst X XIS} ~2[H|S ZZof| Cigt LHE2 A= EI0] AUX| 2. [iEtN

G2 2E2| 82t 2 xlo}XI S4=C

4. Q. et 2&e| if =& A2 ATHE™ “even if only 1 million cars Gparticipate in the ‘Car-Free Day’, fine dust

would reduce by 9% annually”0f|M if 7FEZ0f| 0]0{X|= Zxt 220 ZSAt will2] ZH7{& wouldE A28 712 & 4 UL}

ol2{st ZLE “7r8Y uix{"2} sty if JPEES| SAle} Flofl @& Hit BEC| ZEAI BF TUHE'E ARSI [I2tM partici-

pateE participated2 +38H{0F SICE 7P 24 222 MH2E 20jE 7Hs540| iR W2 40| A= BHOR, “RI ol

S M3ty |= O X|TH M Thofol| WTt CHo| Rf2Fo| EOSHIHH~” mjZto| H|F A={ol 5|Lo]| CHsH O|Of7 | th AFESHC.
E2AEI2 22(0| &S TR HE[5HA| &HT 0| FQIE o~ gl AFMOICE 2L, Bt sh Z2tAE] MM AL8o 2 MESIXQl 70| H|7|Z0|
g, 2a|o| ol 2 2I#o] £|1 Q/Ch OECD EAof| mEH, A Z2tAE! H7|E2 14%2H0| HESE|H, 62%= MHEIED, LInX|=
AZIEICED SICL ONRIEl S2tAE] 17|22 23l%|7|7HK] 500 o|&k0] Z2|0{ Eol| 012] 7HX| 24X EXIE of7|Sit Z2tAE| H7|8 A2t
2 0l iZ2R2 =M RUSHS th7| S0l chEF LEst7| W20l £[M2| s{Z 20| OtL|CE W2t S2HAE 17| S M8 EM3SIE 218 710
CHSt Q7 0i =OIRICE MSETL 71 =30 S0t 7Py 2 A2| W 3 siLts YRslE, 2 ETo|H E84E =0t Pzt 120|M 2
H H7ISS Y= 2aolicto] B AR S Mitsh= 210ICt BEZE WHEl= 3 da = st o2 ofd] X 247t BiES &(0f 70%7HK| &
U 4 Ql= M QA Z ZEFE(D Q/Ct

HcH 1.® / 2.moreeasy->easier /| 3.0

s8] 1. Q. ¢l 22 “EatAEQ| Halgh2 Folg & gl AHMOICPE AlZSIH, Chg 282 E2tAE H7|S2| 21 21~ cish ofof
7[5t2 Ak LA FHM) HiIZkel (A)l= E2fARQ| “Halgh st “8Hd 2H|"2ts t=ElE &S 0l01F = “However7t 2}
Of BICL. & fwj HIZto] ohofl= Z2IAEIOZ oI5t M7t 21 2X|7F AZE|D], O Ch30ll= ofofl k2t Z2AE] H7 |2 MEheS
218t 71&0] 2osiChs LH0| th2Ct. [t (B)oll= o ZH2E olsh ZIE LIEt= E&012l “As a result”7} 2= 20|

HAEsICL

=
[
=

ton

I

2. more easy -> easier. S2IAEI2 22|2| 42 ‘T TSI BHECL = 2F0|C} ‘T M 2He ZH2 H|WFOR easy?| A
2 28EE EX| 27| uf 20l more 0] OFL|2} Fl0]l -er2 20{A easier® E§st= 20| L2 =5i0|Ct. O] mff X}S+yE ELt=

thoje| A OiX|% y& i= HH= 20| RISt

3. ®. 9| 22| otx|at 2Z0j|M “Pyrolysis-based synthetic fuels are considered the key to saving the potential green-
house gas emission up to 70% as compared to fossil fuels. (Z&£35} 7|2t gt MR = 3[AM o7 CHH| AR 2ATIA HiS
2 A|c] 70%IHX| £ = QACtD MZEICH)”n MYt 2R 2 = o M2 2E2| LI 81 URISHK| =Lt

T [Eymm
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21. Plogging

‘E2plogging 2 =2t X27| F7|E Z&s 2S0Ich 'E22'0|2k= Hol= 29H SAH'ES Yplocka upp'(BChH1t 'Z7Hogga (=L st
Che| gHdoict SatAE] 2o gt 2217H S7H=|H A, 201637 AQIHIOIA = 0] 20| ZEIFQl &F0 2 AIZHE|{ 1 2018H0l= AH0|C|
0 HEQAS E5ff CI= LI2t2 SiE|QiCt 0|2 EME| MXH= 0f|2] YAEE(Erik Ahlstrom)QE, 1= XHAO| 2E5HH X|20jM M2)7|2
UM E22S MO ot X|LK| ot J7F YMHO R S o] AQH MAYoR HH W, @5 A4 O|C|of 01 10001 JH=20)lA St
2 20H © o|40] &ofst= A BA0| EIICE 2& RN BH, 2222 E2|7|, 5t0lY, 27| 52| 2 SH Z517], AW, AR
22 Cisto] B2 SEo|| WS MSICt 3087te| ‘B2 0= H 2882 =a|7t AT Ut ZZA|2| 2352 22| ADet ChH|EICt ‘B2
2 0{2{ 22| iZHent otz X| 12| ZiZ ol Folst MER BHAX|EH] 712 E-ICCL

e 1.® / 2. Plogging is an exercise routine that incorporates jogging with picking up litter. / 3.@

i1 1. @. #l 22 ploggingO|2h= £0{2| 0121} plogging®| CHFSt O] S MM +X|E S3ll TH|Z o= Mstn QUCt m2tM x|
2 252 2 @ “plogging?| f2H2t YHS"0| HE3|Ct.
Plogging is an exercise routine that incorporates jogging with picking up litter.
izt 222 ‘Plogging 2 ~O|CL(Plogging is~)' Eh= #419| 'F20{+ beSAF'E ALEStCY.
‘TUa MY 7|E F= AS St 2F > EICHHAL thatS AH23510] exercise routine 2} incorporates jogging with pick-
ing up litterS 21225}0] exercise routine that incorporates jogging with picking up litter2 £2LC}.
(F0) +is + (H0{)2| HElZ “Plogging is an exercise routine that incorporates jogging with picking up litter.” 2 2%ts5}
™ EIC}
3. @. 2| X229 Zof|M 3tim 2E2 H™M “As a workout, plogging provides variation in body movements by adding
bending, squatting, and stretching to the main action of running, hiking, or walking. (S22 plogging2 =2|1, 5t
o|Zsta, A= 7|2 SEol F52|1, Za g, B2 = 50| FIIE[0] Cidst 52| 20| 7Hs3ICt)= HYo| ACt

2tA plogging2| =20 thEsiChs 2X[2| @H2 2E22| Li82t YX|SIA| H=Ct.

22. Eco-Friendly Home

=1

g S FEIS RO ZHB 0fF, Z4E R 71K Hheto] RRX|A| =IACE M|, 4= T2| OHX| T|E{oflA| E@zIsksel ol FHo|
JZ2 A= ol £ B2 HISEMH Y O ICks HS Y50 JCh T(E | AFIM, 1= X7| Tlof] 27&l= 2R Xl FRjet =& 210
Ldt S5 3 W27t LR HIZ0| BO| = KoM 2t EXEISH 7HX|7t A= K| 2HISHR| RACL J2{Lt Z4= 0218 XixHS0] HX
C LHT-E0] FHOILLY | Wh20]| A|lZH0] 2N RX| H|E HZteH0| 40| & 20|2t= ™S ZZFIC E5 FE0| of|uX| Z240| o 21t T7|
S0 2og = oU| W20l HE 323 HI8= E0{S7 € Ao|ct Jo| BE7I 84S Hofl, OfHX| ZEE Zalst BE 71552 2 FHE A
K= =32 A2l SR, HE 7| flst 2= FHIE DXL HS6hs Az ZH|7t B A2 OfLIICL HR G222 RE s{7tet 5212
2= 22 29| AIElS Jt= 9= E CHE FOHS0(RACt. 0] MHES DR|E= Gl 37 0|&0] 2E|AC JCHS k2 FIgHE AxiS0| AS g
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2. Q. sliEt 2&2 AT EM “For Peter, the mandatory procedures required in the initial construction and the special
eco-materials needed for the home seemed too expensive and (c)he was unsure it would be worth the invest-
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3. ®. problems occurred during shipping because of a storm in the area. After two more months of waiting, the ma-
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23. Scarce Resources
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24. The Effect of Climate Change
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UM 222 HZ22E 2l 82 25 Z&eh= @ “H M7Q| 014 7|77t L5ict
2. @®. X|20f|A| ---followed by the longest rainy season on record that continued 54days. 2l= 2% 5l 20204 542!
2t X &2 Fob= g0l ZHE 21 ZOp7|2E 0| QICks AMME & &= QUCH
3. most drastic. “drastic (2Z8h”0|2l= g8Ale| Mz &2 the drasticest7t O}l the most drasticO| HESIC}.
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25. Global Online Environment and Sustainable Survey 1
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HEN1.® |/ 2@ [ 3.Many consumers reported a personal preference for eco-friendly goods.
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3. Many consumers reported a personal preference for eco-friendly goods.
sig 2R Qol 2| 7|2 IX 5 siLiel FOWSAHSNO| TIHS &8st SHOICL mapM F0{(%2 AH|XHS0|-Many
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26. Global Online Environment and Sustainable Survey 2

M7l AHIXE2 LR K| 7Hsd 2t Fo| S Satet T ZHo)| chish AZ T 2|H4S E2{WCh T M7l 2H|KHS2| 64%7t |75 &E0I
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HEN 1.® | 2its->their |/ 3.65% of consumers believe that these products have a positive impact on the environment.
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3. 65% of consumers believe that these products have a positive impact on the environment.
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